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Assignment 1 — Solution
#include <stdio.h>

int main()

{

printf("This is the first sentence\n");
printf("This is the second sentence\n™);

return O;

#include <stdio.h>

int main()

{

prlntf(" *\n **\n * *\n* *\n*********\n");
return O;
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The other edge of the small rectangle is: 7.141428
The area of the circle is: 78.539750

The area of the big square is: 100.000000

The area of the small rectangle is: 49.989999
The gray area is: 46.455249
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Assignment 2 — Solution

#include <stdio.h>
#include <math.h>

#define PI 3.14159

int main()

t
intr,a;
double edge2,circle,square,rectangle,gray;
printf("Please enter two numbers for radius and edge:\n");
if(scanf("%d%d",&r,&a)!=2)
{

printf("Input Error\n™);
return 1;

}
edge2=sqrt(4*(r*r)-(a*a));
circle=PI*r*r,
square=4*r*r;
rectangle=edge2*a;
gray=square-circle+rectangle/2;
printf(""The other edge of the small rectangle is: %If\n",edge2);
printf(""The area of the circle is: %If\n" circle);
printf(""The area of the big square is: %If\n",square);
printf("The area of the small rectangle is: %If\n" rectangle);
printf("the gray area is: %If\n",gray);
return 0;
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Assignment 3 — Solution
#include <stdio.h>
#include <math.h>

int main()

{
double a,b,c, delta, solution;
printf("Please enter coefficients a, b and ¢ for the quadratic equation:\n™);
it (scanf("%If%If%If",&a,&b,&c)!= 3)

{
printf("Input Error\n");
return 1;
¥
if (a==0) {
if (b==0) {
if (0==c) {
printf("Infinite number of solutions\n");
}
else
{
printf("No solution\n™);
}
}
else
{
solution = -c/b;
printf("x = %If\n",solution);
}
¥
else
{
delta=b*b-4*a*c;
if (delta<0)
{
printf("No solutions\n™);
}
else
{
if (delta==0)
{
solution = -b/(2*a);
printf("x = %If\n",solution);
}
else
{
solution = (-b+sqrt(delta))/(2*a);
printf("x1 = %If\n",solution);
solution = (-b-sqrt(delta))/(2*a);
printf("x2 = %If\n",solution);
}
}
}
return;
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Assignment 4 — Solution

triangle.c
#include <stdio.h>

int main()
{ - -
int size;
int i,star,revah;
printf("Please enter positive & odd number as size for the base of triangle: );
if (scanf("%d",&size) '=1)

{
printf("Input error");
return 1;
}
if (size <=0) /* size is negative number */
{
printf("the number %d is too small...bye bye..\n",size);
return O;
¥
if (size%2==0) [* size is even number */
{
printf("the number %d is even...bye bye..\n" size);
return 0;
¥
for (star=1,revah=size/2; star<=size; star+=2, revah--)
{
for(i=0;i<revah;i++)/* printing spaces */
printf("* ");
for(i=0;i<star;i++)  /* printing stars */
printf("*");
putchar(\n’);
}
return 0;
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roman.c

#include <stdio.h>

int main()

{

int num =0, d1, d10, d100;

inti;

while( num>=0)

{

printf("Enter number between 1-100 (or negative number to stop): ");
if(scanf("%d",&num)!=1)

¢ printf("Input Error\n™);
return 1;

}

if(num > 100)

¢ printf("the number is too big. try again\n™);
continue;

}

if(hum < 0)

{
printf("Bye Bye\n™);
return O;

¥

if(num ==0)

{
printf("the number is too small. try again\n");
continue;

}

printf("The representation of the number %d in roman is:\n",num);

d1=num%710; [* Extracting the 1th digit */
d10= (num /10) %10;  /* Extracting the 10th digit */
d100= (num /100)%210; /* Extracting the 100th digit */

if (d100 > 0)
{
if (0100 < 4) [* printing the 100th */
for (=0 ; 1 <d100 ; i++)
printf("C");
if (d100 ==4)
printf("CD");

if ((d100 > 4) && (d100 < 9))

{
printf("D");
for(i=0;i1<dl00-5;i++)

13



printf("C");
}

if (d100 ==9)
printf("CM");
¥

if (d10 > 0)
{
if (d10<4) [* printing the 10th */
for (i=0 ;i< d10; i++)
printf(*X");

if (d10 ==4)
printf("XL");

if ((d10 > 4) && (d10<9))
{

printf("L");
for(i=0;i<dl0-5;i++)
printf("X");
¥
if (d10==9)
printf("XC");
}

if (d1>0)
{ [* printing the 1th */
if (d1<4)
for (i=0;i<dl;i++)
printf("1');

if (d1==4)
printf("IV");

if ((d1>4) && (d1<9))

printf("*V");
for(i=0;i<dl-5;i++)
printf("1");
}
if (d1==9)
printf("IX");
}
printf(*\n");
}

return 0;

14



AVYNNN Y1 NN

YOVUN /N 90010

7701 Y9N
18:00 nywn 4y 22/12/05 :nwrn 92980

NY9-13 PHYN

mMIIN X9 (0-9 2 XN NI9D D) MNID 4 12 190N DY VIONN TR PNV :PHYNND NN
NP 535 NON DY TIPA YN NI 5 — INIDD)

;N9 4 )2 990N WNIN XIN NN Y92 TWRD ;79001 N WD TS DY 1PNvn
513 N DIPN IMNDY ININ I9DNI DI NREN) YHMIY MDD NNN DX~

LNYPQ NNT NNV DIPD TN IN2IN 790N NN MIADNN NNN DX e

NYNM (0 NH9DN) TN 912 v X 2031 N0 winm 3094 N0 9NN 790NN DN : NOITY
.(3 7M950N) NNN

L0912 4 PYTI W TUND NN JPNYN
1 NINNN NN
ININ J9IN N0 91 PRVN PPN TUN NN 1D

INMIN 90NN MM NN THIRIPX NN MO0 4 )12 NYOD 1901 NN NN .1
N PIN WRNWNN

AN INMN NN VIZPN 190N YNID WHNYNIN YPan MNN PN Y51 .2
IV NHNDY PN DYDY NNO WIN YD Ty WTINY TINN LYY .3

(D912 4) NN I9DNN NN YN WHNWNIN IWUN TY 2+3 D275V DY INNN 7NN .4

15 NIMIND YN (congratulations! w5 nwn) NIRNND NYTIN DTN IN
(N3N PNINKRN YINMDN H912) PNXNIN TY P DN

10990
: N2N 192 rand() MOXPpI2 WY Y YXIND TPIRIPR 190N NPN @
randQQ%10 — 0-9 2 990N NN

rand mypn9a v wn »10 01200 NisnY 1 . stdlib.oh 1902 Ny spnan
.0MPN YV TINOYDN 1901 D)

(MIN H52 MMAD 4 12 1901) YPIN 7P TN 0NNV RTND DOV 1D 1Y e

0PN XN 1101 WINN — I9122) MIN BY 19010 NPND 213> WIin%

9901 NI VIPN DN .DMNDNY NN MIDND (DXNN I W — INIVI) PPN XY VIPN ON ®
NN VIND NHN WPIADY YPIN XD YINDNY WHNWND WNND 029Y M990 4-n 9Ny Oy
(99D NY IN NON WINN)

DOWANNI KDY T2V DXIIWNA WHNWYN L) .0 DHIND TYN DHINN e

MNY 02277 DTN DI DY 191 ,(MPXPNAY NN NPWYN) AN NON DY yPIpn e
YNTY INN D131292) TIXPND DI 12D TP MIYN ,NPIPNAD DNINYNY DOMYNHWYN
.DONAPY PONY NN PN .INITI 120N

15



Assignment 7 — Solution

#include <stdio.h>
#include <stdlib.h>
#include <time.h>

#include <ctype.h>

#tdefine SIZE 4
#define ERROR 0
#define SUCCESS 1

void GenerateCode(char*); /* Generate the random code */

int ReadGuess(char*); /* Read the user's guess and return 1 if the guss was
leagal or O otherwise*/

int CountBull(char*,char*); /* Count the bull's eyes */

int CountPgiaa(char*,char*);/* Count the hits */

void PrintScore(int,int); /* Print how many bull's eyes and how many hits */
int ReadToTheEndOfLine(void); /* Read the chars from the input until the \n' and
return 1 if it read only the '\n' - legal guess... or O if not */

/******************* jUSt for dEbUgglng kkhkhkhhhkhkhkkkhkhkhkhirhihkhkhhhik

void printcode(char *code)

{
inti;
for(i=0;i<SIZE;i++)
{

¥
printf(*\n™);
return;

putchar(code[i]);

}

*******************************************************************/
int main()

char code[SIZE], guess[SIZE];

int bull=0, pgiaa=0;

int num_of_guesses=0;

GenerateCode(code);
[*printcode(code);*/
do{
printf("Enter your guess: ");
if("ReadGuess(guess))/* if the guess is not legal - ask for a new guess

{

-

printf("Illegal guess...try again\n™);
continue;
}
nuim_of _guesses++;
bull = CountBull(code,guess);
poiaa = CountPgiaa(code,guess);
PrintScore(bull,pgiaa);
Twhite(bull<SIZE);
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printf("Congratulations!'\nYou did it in %d guesses\n",num_of guesses);
return O;

}

/* Generate the random code */
void GenerateCode(char* code)

{
int digits[10] = {0}; /*the array helps to check repeats*/
int num, i =0;
srand( (unsigned)time( NULL ) );
while(i<SIZE)
{
num = rand()%10;
if ("digits[num])
{
code[i++] = num +'0’;
digits[num] = 1;
}
}
return;
}

/* Read the user's guess - return 1 if the guss was legal or 0 otherwise*/
int ReadGuess(char* guess)
t
inti;
for(i=0;i<SIZE;i++) /*read the guess and save it in an array of chars*/
{
guessJi] = getchar();
if (Yisdigit(guess[i])) /*if the char we read is not a digit */

if(guess[i]!="\n")
ReadToTheEndOfLine(); /*read the following input
chars before the next guess*/
return ERROR; I*illegal guess*/
}
}

[*after reading the guess we should check if there are more than SIZE chars*/
if(ReadToTheEndOfLine()==0) /*the function returns 1 if it read only the \n' -
legal guess... or O if not*/
return ERROR,;
return SUCCESS;

}

[* Courtthe bull's eyes */
int CountBuli(char* code,char* guess)

{
int i,bult=0;
for(i=0;i<SIZE;i++)
|

if(code[i]==guess][i])
bull++;

17



return bull;

}

/* Count the hits */
int CountPgiaa(char* code,char* guess)

{
int i,j,pgiaa=0;
for(i=0;i<SIZE;i++)
{
for(j=0;j<SIZE;j++)
{
if(code[i]==guess[i]) /*if it is bull's eye*/
break;
if(code[i]==guess][j]) /*check for hits*/
{
pgiaa++;
break;
}
}
} |
return pgiaa;
}

/* Print how many bull's eyes and how many hits */
void PrintScore(int bull,int pgiaa)
{
printf("bull's eye: %d\nhits: %d\n",bull,pgiaa);
return;

¥

/* Read chars from input until the \n' - return 1 if it read only the \n' - legal guess...
or 0 if not */
int ReadToTheEndOfLine()

{
if(getchar()=="\n")
return SUCCESS;
else
while(getchar()!="\n")
return ERROR;
}
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Assignment 8 — Solution

PrintRev

#include <stdio.h>

void print_rev (char*, int);
int main()

{
char ¢, word[24];

int i=0;
int in_word = 0; /* 'in_word" will let us know if we read a word or no */
printf("Enter a sentence: *);

while ((c = getchar())!="\n")

{
if((c>="a" && c<="2) || (c>="A' && c <="Z"))
{
word[i] = c;
i++;
in_word =1,
}
else
{
if(in_word)  /* if we read a word */
print_rev(word, i);
printf("%c", c);
i=0;
in_word =0;
}
¥

if (in_word) /* for the last word */
print_rev(word,i);

putchar('\n’);
return 0;
}
void print_rev (char* word, int size)
{
int ind = size-1;
for(;; ind>=0 ; ind--)
printf("%c",word[ind]);
return;
¥
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Bigint

#include <stdio.h>
#include <stdlib.h>
#tdefine SIZE 21

void ReadBiglInt(char*);

char* AddNumbers(char*, char*);
int GetSize(char*);

void PrintSum(char*);

int main()

{
char num1[SIZE],num2[SIZE];

printf("Enter a positive number (maximum %d digits): ",SIZE);
ReadBiglInt(huml);

printf("Enter another positive number (maximum %d digits): *,SIZE);
ReadBiglInt(hum2);

PrintSum(AddNumbers(numl,numz2));

return O;
}
void ReadBiglInt(char* num)
{
char digit;
int i=0, j;
while((digit=getchar()) !'="\n") /* reading the number */
{
if(digit >='0" && digit <="9") /* digit is digit... */
numl[i++] = digit;
else
{
printf("Input error - %c is not a digit\n",digit);
exit(1);
}
}
for(j=i; j<SIZE ;j++) [* the rest of the number will be "\0' */
numl[j] ="\0’;
return;
}
char* AddNumbers(char* num1, char* numz2)
{

static char sum[SIZE+1];
intsize_numl = GetSize(num1l);
int size_num2 = GetSize(hum2);

intij;
int k = STZE-1;
int res, left=0;

for(i=size_num1-1, j=size_num2-1 ; i>=0 || j>=0; i--, j--, k--)

{
i(i<0)
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res = (num2[j]-'0")+left;
else if(j<0)

res = (num21[0]-'0")+left;
else

res = (num1[i]-'0")+(num2[j]-'0")+left;
left = 0;
if(res>10)
{

res = res%10;

left = 1;
}

sum[k] = res+'0’;

}
if(left)
sum[k--] ='1";
while (k>=0)
sum[k--] ='0";
return sum;

int GetSize(char* num)

{
int i=0;
while(num[i]'="0")
i++;
return i;

void PrintSum(char* sum)
{
int i=0;
printf(“the sum of the two numbers is: *);
while(sum[i] =="0")
I++;
while(sum[i]'=\0")
putchar(sum[i++]);
printf(*\n");
return;
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Assignment 9 — Solution

#include <stdio.h>
#include <stdlib.h>
#include <string.h>

#define WORDSIZE 24
#tdefine OK 1
#define ERROR 0

void CopyWord(char from[],char to[]); /*copy one string to the other*/

int ReadFromFile(FILE* fp, char word[]);/*read a word from the file - return OK if
succeeded or EOF in the end of the file*/

int LCS(char word1[], char word?2[]);/*calculate the LCS between word1 and word2*/
int CreateMatrix(int*** mat, int rows, int cols); /*create a matrix rowsXcols*/

void Free(int** mat,int rows); /*free allocated memory*/

int main(int argc, char* argv[])
{
FILE* fp;
char word1[WORDSIZE], word2[WORDSIZE];
char closest_ word[WORDSIZE];
int Ics=0, max_lcs=0;

if(argc<3)
{

printf("Not enough parameters to main\n");
return 1;

¥
if((fp=fopen(argv[1],"r")) == NULL)
{

printf("Cannot open file\n™);

return 1;
}
CopyWord(argv[2],word1l); [*copy argv[2] to word*/
while (ReadFromFile(fp,word2) '= EOF)  /*read a word from the file*/
{
if((Ics = LCS(word1,word2)) > max_lcs)
{
CopyWord(word2,closest_word);
max_lcs = Ics;
}
i

if(max_Jes>0)
printf("The closest word to %s is %s with LCS = %d\n",word1,
closest_word,max_Ics);
else
printf("There is no match\n");

fclose(fp);
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return O;

[***** Copy one string to the other *****/
void CopyWord(char* from, char* to)

int i=0;
while(from[i]!'="0"
{
to[i] = from[i];
i++;
}
to[i] ="\0;

return;

}

[***** Read a word from file *****/
int ReadFromFile(FILE* fp, char word[])
{
char c;
int i=0;
while((c=fgetc(fp))!="\n' && c!=EOF)

word[i++] = ¢;
}
word[i] ="\0";
return ((c=="n")? OK : EOF); /*assume that every word ends with \n'*/

¥

[***** Calculate LCS ******/
int LCS(char word1[], char word2[])
{
int**mat;
intij;
int lenl = (int)strlen(word1l);
int len2 = (int)strlen(word2);
int lcs=0;

if(CreateMatrix(&mat,lenl+1,len2+1) = OK)
{
printf("memory allocation fail\n");
exit(1);
¥
[* initialization*/
for(i=0; i<=lenl; i++)
mat[i][0]=0;
for(i=0;d<=len2; i++)
mat[0][i]=0;

for(i=1; i<=lenl; i++)
for(j=1,; j<=len2; j++)

if(word1[i-1] == word2[j-1])
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mat[i][j] = mat[i-1][j-1] + 1;
else
mat[i][j] = (mat[i-1][j] > mat[i][j-1]) ? mat[i-1][j] :
mat[i][j-1];
}

Ics = mat[len1][len2];
Free(mat,lenl+1);
return Ics;

}

[*create a matrix (mat) in size rowsXcols and*/
int CreateMatrix(int*** mat, int rows, int cols)

{ . -
int i
iIf((*mat = (int**)malloc(rows*sizeof(int*))) == NULL)
return ERROR,;
for(i=0; i<rows; i++)
If(((*mat)[i] = (int*)malloc(cols*sizeof(int))) == NULL)
return ERROR,;
return OK;
}
void Free(int**mat,int rows)
t
int i
for(i=0; i<rows; i++)
free(mat[i]);
free(mat);
return;
¥
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Assignment 10 — Solution

1.

#include <stdio.h>
#tdefine N 4

enum {FALSE, TRUE};

void solve (int board[N][N])

{
int visit[N][N]={0};
if (board[0][0]'=board[N-1][N-1])
printf("0\n");
else
printf("%d\n",recsolve(board,visit,0,0));
return;
}

int recsolve (int board[N][N], int visit{N][N], intr, int ¢)

visit[r][c]=TRUE;
if ((r==N-1) && (c==N-1) ) {
return TRUE;

¥
if ((r>0) && (board[r-1][c]==board[0][0]) && (visit[r-1][c]==FALSE) &&
(recsolve(board,visit,r-1,c)==TRUE) )
return TRUE;
if ((r<N-1) && (board[r+1][c]==board[0][0]) && (visit[r+1][c]==FALSE)
&& (recsolve(board,visit,r+1,c)==TRUE) )
return TRUE;
if ((c>0) && (board[r][c-1]==Dboard[0][0]) && (visit[r][c-1]==FALSE) &&
(recsolve(board,visit,r,c-1)==TRUE) )
return TRUE;
if ((c<N-1) && (board[r][ct1]==Dboard[0][0]) && (visit[r][c+1]==FALSE)
&& (recsolve(board,visit,r,c+1)==TRUE) )
return TRUE;
visit[r][c]=FALSE;
return FALSE;
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2.

#include <stdio.h>
#include <stdlib.h>
#include <string.h>

#tdefine WORDSIZE 24
#define OK 1
#tdefine ERROR 0

void CopyWord(char from[],char to[]); [*copy one string to the other*/

int ReadFromFile(FILE* fp, char word[]);/*read a word from the file - return OK if
succeeded or EOF in the end of the file*/

int LCS(char word1[],int len1, char word2[],int len2); [*calculate the LCS
between word1 and word2*/

int main(int argc, char* argv[])
{
FILE™* p;
char word1[WORDSIZE], word2[WORDSIZE];
char closest_ word[ WORDSIZE];
int Ics=0, max_lcs=0;

int lenl, len2;
if(argc<3)
{
printf("Not enough parameters to main\n");
return 1,
}
if((fp=fopen(argv[1],"r")) == NULL)
{
printf("Cannot open file\n™);
return 1,
¥
CopyWord(argv[2],wordl); [*copy argv[2] to word*/

lenl = (int)strlen(wordl);
while (ReadFromFile(fp,word2) != EOF)  /*read a word from the file*/

{
len2 = (int)strlen(word2);
if((Ics = LCS(word1, lenl, word2, len2)) > max_Ics)
{
CopyWord(word2,closest_word);
max_lcs = Ics;
)
}

if(max_lcs>0)
printf("The closest word to %s is %s with LCS = %d\n",word1,
closest_word,max_Ics);
else
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printf("There is no match\n");

fclose(fp);
return O;

[***** Copy one string to the other *****/
void CopyWord(char* from, char* to)

{

¥

int i=0;
while(from[i]'="\0")

to[i] = from[i];

i++;
}
to[i] ="\0"
return;

[***** Read a word from file *****/
int ReadFromFile(FILE* fp, char word[])

{

char c;
int i=0;
while((c=fgetc(fp))!="\n" && c!=EOF)
{
word[i++] =c;
}
word[i] ="\0";

return ((c=="n")? OK : EOF);

[***** Calculate LCS ******/
int LCS(char word1[],int len1, char word2[], int len2)

{

int Icsl, Ics2;

if((len1==0)||(Ilen2==0))
return O;

if(word1[lenl-1] == word2[len1-1])
return (LCS(word1,len1-1,word2,len2-1) + 1);

lcs1 =LCS(wordl,lenl-1,word2,len2);
Ics2 = LCS(wordl,lenl-1,word2,len2);
return (Iesl > lcs2) ? Iesl : Ics2;
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3.

#include <stdio.h>
#include <string.h>
#define LEN 100

enum {FALSE, TRUE};

struct word {
char *s;
struct word *next;

}3

struct sentence {
struct word *wordlist;
struct sentence *next;

o
void FindWord (struct sentence *list , char *s)
{
struct word *tmp;
for (; list!=NULL,; list=list->next){
for (tmp=list->wordlist; tmp!=NULL,; tmp=tmp->next){
if (strcemp(tmp->s,5)==0){
PrintSentence (list);
break;
}
¥
}
return;
}
void PrintSentence (struct sentence *list)
{
struct word *tmp;
for (tmp=list->wordlist; tmp!=NULL,; tmp=tmp->next)
printf("%s ",tmp->s);
printf(*\n");
return;
}
void printDuplicate (struct sentence *list)
{

struct sentence *s;
Struct word *w1,*w2;
int flag;
for (;list->next!=NULL,; list=list->next){
for (s=list->next; s!I=NULL; s=s->next){
flag=TRUE;
for (wl=list->wordlist , w2=s->wordlist; wl!'=NULL &&
w2!=NULL; wlzwl->next, w2=w2->next){
if (strcmp(wl->s,w2->5)!=0){
flag=FALSE;
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break;
}
}
if (flag==TRUE && w1==NULL && w2==NULL){

PrintSentence(list);
break;

}

return;
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int bigger(int arr[])

int num;

if(arr[1] < 0) return arr[0];

num = bigger(arr+l1l);

if(arr[0] > num) printf("'%d **,arr[0]);
return num;

2
Antarray[N] : 75970 70 M
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int permutation (int array[N])

{
intstemp[N];
int 1;

for (i=07A1<N; i1++)
temp[i]= -1;
for (i=0;0i<N; i++)
if (array[i] >= 0 && array[i] < N)
tempfarray[i]] = array[i];
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else

return O;
for (i=0; iI<N; 1++)
it (temp[i] == -1)
return O;
return 1;
}
3
: N2 IR ITHN NI RN 93 IWUNR TINPI-IT NIVIPH NDOWI NN
struct cell{
const int num;
struct cell *prev;
struct cell *next;
2
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#include <stdio.h>
#define SIZE 100

struct cell *MaxSort ( struct cell *list);
struct cell *RemoveDuplicate ( struct cell *list );
void Removeltem ( struct cell *item );
struct cell{

const int num;

struct cell *next;

struct cell *prev;

struct cell *MaxSort ( struct cell *list )
{
struct cell *tmpl, *tmp2, *max, *prev, *next;
prev=tmpl=list;
while(tmpl!=NULL){
max=tmpl;
for (tmp2=tmpl; tmp2!=NULL; tmp2=tmp2->next){
it (tmp2->num > max->num){
max=tmp2;
}
}

if (tmpl==max){
tmpl=tmpl->next;
}

prev=max->prev;

next=max->next;

it (prevI=NULL){ /7* max is not the first element */
prev->next=next;
list->prev=max;
max->next=1ist;
max->prev=NULL;
it (next!=NULL){ /7* max is not the last

element */
next->prev=prev;

}
¥
list=max;
3
return list;
}
struct cell *RemoveDuplicate ( struct cell *list )
{
struct cell *tmp;
list=MaxSort(list);
for (tmp=list; tmp!=NULL; tmp=tmp->next){
while ( (tmp->next!=NULL) && (tmp->num == tmp->next-
>num) ) {
Removeltem (tmp->next);
}
g
returnjlist;
}

void Removedtem ( struct cell *item )
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item->prev->next=item->next;

if (item->next!=NULL){
item->next->prev=item->prev;

}

return;

4
t5v DN 190N NN NPINDI T NTIINKY S NIINK NYAPNN MYSEIStr DA MIPND PTIN
NNHINKN NN T OKR ;2 1INND 3PN Yy “ab® non t-1 “abracadabra“ xon s ox ,owny .s-a

3900 expnon Sy ’bb xon t- bbbb 800 s DX .5 tNN5 Pxpnen by ’a“
.0(1) : 01 n212>0 .0([s|x]t]) : I NPm120

int mystrstr(char *s, char *t)

{

int 1,j,result=0;

it (t][0]=="\0") {
return O;
¥

for (1=0; s[i] '= *\O0"; 1++) {
1=0;
while (s[i+]J]'="\0" && t[J]!'="\0" && s[i+j]==t[jJ]) {
J++;
}
it (eg1=="\0") {
result++;
3
}

return result;
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#include <stdio.h>
#include <stdlib.h>

int main() {
unsigned int dd:;
unsigned int mm;
unsigned int yyyy:

printf(”Please input one date in the format:\ndd mm yyyy\n”);

if (3!=scanf ("%u%u%u” , &dd, &mm, &yyyy)) {
printf(”Problems reading input. Input may be invalid\n”);
exit (EXIT_FAILURE) ;

}

if (O>yyyy |1 9999<yyyy) |
printf(”Invalid year %d.
“You can only use years from 0000 to 9999\n”,yyvyy):
ex1it (EXIT_FAILURE) ;

”

}

if (1>mm 11 12<mm) {
printf(”Invalid month %d. ”
“You can only use months from 01 to 12\n”,mm) ;
exit (EXIT_FAILURE) ;
}

if (1>dd Il 31<dd) |
printf(”Invalid day %d. ”
“You can only use days from 01 to 31\n”,dd);
exit (EXIT_FAILURE) ;

if (31==dd && (11==mm || 9==mm || 6é==mm || 4==mm)) {
printf(”The %dth month cannot have %d days\n”,mm,dd)
} else if (29<dd && 2==mm) {
printf(”The %dnd month cannot have %d days\n”,mm,dd)
} else if (28<dd && 2==mm && (! (yyyy%&4==0&& (! ((yyyy%100==0)&&(yyyy%400!=0)))))) {
printf (”The %dnd month has %d days only on leap years, and %d is ”
“not a leap year.\n”,mm,dd,yyyy):
} else {
printf(”"%d/%d/%d is a valid date\n”,dd,mm,yyyy):
}

return EXIT_SUCCESS;
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#include <stdio.h>

int main(Q)

{

int num, i, option=-1, counter;

while(option = 3) { /* keep presenting menu untill exit */
do{

printf("'Enter a positive number: ");
scanf('%d", &num) ;

Jwhile(num<=0);

printf('Select one option from the following:\n\n");
printf("'(1) calculate the number of digits of %d.\n",num);
printf("'(2) check if the number %d is a prime number.\n",num);
printfF(""(3) Exit.\n");

do{
printf("'Enter option:");
scanf("'%d",&option);
Jwhile(option<l || option>3);

switch(option) {

case 1:
counter=0;
while(num>0) {
num/=10;
counter++;
printf(''\nThe number of digits is %d.\n",counter);
break;
case 2:
if(num==1){
printf("''\nThe number is not a prime
number._.\n'");
break;
by
for(i=2 ; i<num ; i++){
iT(hum%i==0){
printf(''\nThe number %d is not a prime
number.\n"",num);
break;
¥
}
if(i==num)
printf(''\nThe number %d is a prime
numbetrJXn', num) ;
break;
case3:

printF("Exit.\n");
return O;
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printfF(C"\n\n");
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#include <stdio.h>

int main(Q)
{ _
int num, copy_num;
int left, right;
int i,counter, contain_O;

do{

printf("’Enter number: ');

scanf("'%d", &num) ;

Copy_num=num;

contain_0=0;

while(copy_num>0){

iT((copy_num%10)==0){

contain_0=1;
break;

by
copy_num/=10;

}
Iwhile(num<=0 || contain_0);
copy_num=num;

while(copy_num>10){ /* keep checking if we steel have 2 digits or more */

left=copy_nhum;
right=copy_num;

counter=0;

while(left>10) { /* get the left digit */
left/=10;
counter++;

3

right=copy_num%10; /* get the right digit */

if(right = left) {
printf("'The number %d is not a palindrome\n',num);
return O;

}

for(i=0; i<counter ; i++) /* calculate what is number to be reduced

from the left side */
left*=10;

copy_num= (copy_num -(left + right))/10; /* calculate what is the new
number to check */

}

prantT('The nomber %d is a palindrome\n™,num);
return O;
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/* count-abc.c */

/* This program counts the number of occurrences of the string "abc" in

#include <stdio.h>

int main O

{.
int c;
int count=0;
char state=0;

while ((c=getchar()) !'= EOF) {
if (c == "a") {
state ="a";
} else if (state == "a" && c == "b") {
state = "b";
} else if (state == "b" && c == "c") {
count++; state = O;
} else {
state = O;
}
}

printf ("The string %s occurs %d times.\n",
return O;

abc', count);

}

/* arrow.c */

/* Read numbers until EOF, print the length of the longest
increasing (contiguous) sub-sequence */

#include <stdio.h>

int main

{
int inputl,input2, length=1,max_length=1,start=1,max_start=1,i1=1;
scanf ('%d", &inputl); /* the input is valid and has at least one
number */
while (scanf("%d",&input2)==1) { /* while not end of file */
i++; /* the index of the current number */
it (input2>inputl) { /* still monotone */
length++;
} else { /* breaking a monotone sequence */
length=1; /* a new sequence starts here, its length is 1 */
start=i;
it (length>max_length) { /* if we"re currently breaking a record */
max_length=length; /* update records */
max_start=start;
}
inputl=input?2; /* prepare to read new input */
}
printf ("'The length oF the longest arrow is %d, "
"starting from the %d-th element\n",max_length,max_start);
return O;
}
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/* matches.h */

#ifndef _MATCHES H
#define _MATCHES H

int RemoveMatches(int, int);
void ShowGame(int,int,int);
int GetNextPlayer(int);

int ManageGame();

#endi
/* matches.c */

#include <stdio.h>
#include "matches.h"

int RemoveMatches(int matches, int max_matches)

{

int remove;

printf("'Put number of matches to remove:\n'");
scanf("'%d", &remove) ;

if(remove > max_matches || remove <= 0 |] remove > matches)
{
printf("*'Wrong input. Try again\n');
return -1;

}

return matches - remove;

void ShowGame(int matches, int max_matches, int turn)

{ o
int i;
printf("'The number of matches now in the table is: %d\n",matches);
printF("'The maximal number of matches that can be removed is:
%d\n",max_matches);

for (i=0 ; i<matches*2 ; i++)
printf('-"");
printf(''\n"");

for (i=0 ; i<matches ; i++)
printf('] ');
printf(''\n"");

for (i=0 ; i<matches*2 ; i++)
peipttC'-");
prantfC\n"");

if(turn == 1)

printf(""**_Player 1 it is your Turn **\n'");
else

printf(""** Rlayer 2 it is your Turn **\n'");

}

int GetNextPlayer(int turn)
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if(turn == 1)

return 2;
else
return 1;
}
int ManageGame()
{
int matches, current_matches;
int max_matches;
int turn;
do{
printf("'Enter number of matches:\n"");
scanf("'%d",&matches);
Iwhile (matches <=0);
do{
printfF(""Enter the maximum number of matches: (1 - %d)\n",matches);
scanf("'%d",&max_matches);
Iwhile ((max_matches <= 0) || (max_matches > matches));
do{
printfF("'Which player wants to start? press 1 or 2.\n"");
scanf("'%d",&turn) ;
Iwhile ((turn = 1) && (turn 1= 2));
while(matches > 0)
{
ShowGame(matches, max_matches, turn);
do{
current_matches = RemoveMatches(matches,max_matches);
Iwhile(current_matches == -1);
if( (matches = current_matches) != 0)
turn = GetNextPlayer(turn);
}
if(turn == 1)
{
printf("'player 1 won the game!\n'");
return O;
}
else
{ _
printf("'player 2 won the game!\n');
return 1;
}
}
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/* Main */

#include <stdio.h>
#include "matches.h"

int main()

{ _
int games;
int i;

int winl = O;
int win2 =0;

printf("'How many games do you want to play?\n');
scanf("'%d", &games) ;

for (i=1 ; 1 <= games ; i++)
{
printf('**** GAME NUMBER %d ****\n',i);
if(ManageGame())
win2++;
else
winl++;

printfF("'Player 1 won %d games.\n',winl);
printF(""Player 2 won %d games.\n",win2);

return O;
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: NN I9IND MIINHDD P2 PNITH IN NPT N I90/ T-1S MNIND SNY NYAPN MXPNN

CEn oM NS NVLPYN Y S AININNKY T ANINKNN YIND 1N OXN NPT PPN

.0 PINN NINK, 1 PINN MMXPNN 1D ON

2 NN N - “eintr” nynnn Xon S - “esintro” nnnnn o0 v )IN) OX NONT

IYARY 1IN 1IN PPN DOYD NOMNTN 7Y . S NN HAPY -0 0NN MY TNND 1N ORN PITIAN MIXPNN
LSTINDAPY t-n 0 - S OMNNN NN VINPWND

L 1-9'5 -0 vanh 112 0N 0 NVHWNA PV 1 PINN PXPNON, 0 190! » CSintro” -y 7 csintro” MyINNPN My

void print_lines(char * str)

NYN DN MV NX NODATNI,VLOPLN MNY NX NVIP ,YIDND NNXIN NNINNN NN NYAPN MXPNN
2OV2 1 TNNY NPLINDIN NVIPNN YIDY TIN ,NHINHDN

void print_similar_words(char * str)

NNV MNITH DDPAAN NDATN LOPLN MM NN NVNP ,YIDNT NNININ NNINNDT NN NOIAPN MMSPNN
(V19NN NTIINKZMNTN D1 H913) LOPLI MYNNN DIDNNN NNX NMIN DY NVNPWN T TY VIDNN
209 ITNNY NPLINDIN NPXPNN YHNYN 7PNPNON

vYp
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(./find <input.txt) redirection mysnx2a Y2IPN 2P W1 VOPN NN
: N2 J9INA XD VOPN NP DY VPN

cat a

this is a text file

looking for the word cat

the program should print also cats

and crat and lIcat but it shouldn’t print

(bxa) vivdNN MIYAN NPINKDY (Cat) vIDd NN NIIINKD YN NNYRIN NI

NN Y NVNPWN >T3 Ty cat-Y MmTN 091 NPTN b -1 cat NIINKN NY 9N DN NNV NDSTN NINDNI & IWND
ANDNT VLOPLN YAV 3-N NNVYNN DNN L)ON INRD .NNN

LDMPN INND VIY/VIP MINNINT INT

LOMNPN NN NNNIN MINNDNTY PVIDND NN P VI/VIPNY TAPNY W
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/* find.h */

#ifndef _FIND _H_
#define FIND H

#define LINE 256
#define WORD 30

int getline(char s[], int lim);

int getword(char s[], int lim);

int substring( char * strl, char * str2);
int similar(char *s, char *t, int n);

void print_lines(char * str);

void print_similar_words(char * str, int n);

#endi
/* find.c */

#include <stdio.h>
#include <string.h>
#include "find.h"

int getline(char s[], int lim)
intc, 1, j;
for(i = 0, j = 0; (c = getchar())!=EOF && c != "\n"; ++i)
ifGi < lim - 1)

s[j++] = c;

}
}
if(c == “\n")
{

if(i <= lim - 1)
{

shi++] = c;

++1;

3
s3] = "\0~;
return i;

}

int getword(char s[], int lim)
intc, &, j;

for(i = 0,7 #0;-(c = getchar(Q)!=EOF && c = "\n"&& c = "\t"&& c I= " "; ++i)
if@ < lim 1)
{
s[j++] =
}

(¢}

by
slijd = A0S
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return i;

}

int substring( char * strl, char * str2)
{
char *cp = strl;
char *sl1l, *s2;
it ( I*str2 )
return 1;
whille (*cp) {
sl = cp;
s2 = str2;
whille ( *s1 && *s2 && I (*s1l-*s2) )
Sl++, S2++;
if (1*s2)
return 1;
cp++;
}

return O;

}
int similar(char *s, char *t, int n) {
int i;

while(*s) {

i=0;

while(*(t+1) = *s) {
iTAC(t+1)))

return O;

i++;

.

n-=i;

S=s+1;

t=t+i+1l;

return (n==strlen(t));
}

void print_lines(char * str) {
char line[LINE];
while(getline(line,LINE)) {

if(substring(line,str))
puts(line);



void print_similar_words(char * str, int n) {

char word[WORD];
int i;

while(getword(word,LINE)) {
i=n;

while(i>=0) {
if(similar(str,word,i))
printf("'%s\n" ,word) ;
i--;

}
/* main */

#include <stdio.h>
#include <string.h>
#include "find.h"

int main(Q)

char word[WORD];
char option;
getword(word,WORD) ;
option=getchar();

getchar();
getchar();

if(option!="a" && option 1="b"){
printf("'Bad selection.\n");
exit(1);

}

if(option=="a") {
printfF("'Printing lines that contain the word "%s":\n\n",word);
print_lines(word);

}

if(option=="b") {
printF("'Printing the similar words for "%s®" up to 1 degree of
similarity:\n",word);
print_similar_words(word,1);
}
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AYNNH FP1IY NN

N70VYN 72 909170

7'on 727N
1/5/05 :nwan o980

091 NNMNtON

MINNDN 1IN NPMIN DY NTHIN-IT NIV NNN) IYRD ,0°970 NN PAVN WNHHNN MY NN
:DNAN 4 -1 NYIVA INNDNY M DDPNN .NMVY DN

(=) .5 Snnwn (1

(1) .nond Noynon (2

(\) 2 NOOONI NVNY NHYNION (3

(/) OONNY NDIYNA NVLNY NHYNION (4

2202 OPXIN MMIPNN NN XIND ,NYIVI ONIN MWD ,0207HN NN VIVPD DIMDY NWNRIN 21OVA

NRINID WHNWNN DYY DYDMI1 NNV NNIONN NDIV NN PINDY  NPRIPN NPNINI

NN NONY v 12-oy. (lower-case) 1251 MLVP NPMN MIIN MLIPIN DXIN : NTHIAY NNIN
(TYNN2 VNDY Y95 NWXTN TNXD MDY NPNIND YNNWI) .NNLVP NPRIPNR NPMINA NDIAVN

MIND DY MO TNRIPN DX VIVPD W 1D DI 52)D .NINONA D¥DNN NX WOND ¥ Mvn 2Hva

T12Y R¥NI (DWN NINDNN NNN 4-ND TNNI) NDNHN DIPYD ONX .NNONA NHY NNYNIN

2OV NYTIN OSTIN,NINN .17 NMIN NIAY NNDSN NYTIN DTN ,NIDNIDN MO TNNIP

D201 NNRYYNI MNDXNN 190N NIRNIN DITIN,NINTONA OIDMIN DI NN INNXD ,PNYNN NOA
NYOIN DI TO NNYD

Y ,NDI0N TINA VITIN NINONA ARSIV NN TYUNRD 19202 YNONN 28NN OITY 2OV Y2
ANYN) DIVY O NN P DPON NYTNN DY

s NN NPIPNIN NN VNN v
void init_table(char Table[SIZE][SIZE]) (1

TN NOAVN DTN IWUNRD, A\’ -2 PIDN DD DX HNNNRN PNRWNN NDIV NN DIAPN MINPNON
#define SIZE 15 :nonT1 #define -2 maomn wxoa

int get_words(char words[WORDS_NUM][LENGTH]) (2

-2 DNIN JONRN NNTON NI1DWH NMMNIN DN NN WHRNWNNN VPN INPNON
NN 0M)NoNN 0P 0N LENGTH -y WORDS_NUM qwx> words[WORDS_NUM][LENGTH]
99010
TIDIND YRIZ I DMAPN . NNIXNNA NDI DD DY ODI0PN TN D00 PNN DIMIN
. #define LENGTH 10 -y #define WORDS NUM 15 :Nnn1o
DY ANDA N9 TIINY DINNN DD 1901I: 1N OPIN VYD DAPNNY NTND MINPNON DY
AOOPIY DDNN 190N NX PINN PXPNON .NYAVN M)
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void show_table(char Table[SIZE][S1ZE],char words[WORDS NUM][LENGTH], (3
int flags[WORDS_NUM], int num_words)

D07y Do flags TIvnn NN DIVY DN NIV NN ,NNINN NYIVN NN DITN MNPNON

I -1 DIPMN .NY N DDIPD NN KD WONWNN DX TOD MINPITIRD D900 NDOWA 1Ay DN
.DOYNN NYOWIA T -N NN DINNN TIVHNI

int put word(char Table[SIZE][SI1ZE],char word[]) (4

NIWUN MY YAINRD TARD INYOD DIPNN SN NS00 TIN2word 19N NN XAWD MINPNIaN Y

NTIPI NNAD ¥ ,NDMIN NN NAWD NNYDNN KD TIXPNON DN IYIRNND 12TV NNINA DY 1I1ONNY
191272 NN NNT YNID NVOWN .NINK NONNN

.DNYNAY NDWO DM 1900 DX tries mnwn Tinanny .1

rand() M ¥P9N NIYA DY PO HYHOINONNN DIPMY Y- X 2NN .2
(3T 0-n DD NONTY) . (7 \ | == ) MNTPNN PPN .3

NPYTAN .(...DIPD ,MYNNN NPNIN ) IDMINY DIIIYN 779y NYMIN NN NIWD N2 ORNIPTA .4
S5 TNPNS MYNNND YNINN

XI2WN NI TIY IR IPINND NDMNN DX INIY DNNONN ONX . a
:DNNONNINY ON . b

triesnx mTp
229wy . tries < SIZE*SIZE ox .l
(7901010 NN XaWD NNYOSN XY MSPNoN) -1y inn,nnx LI

NN TINA NIV NDMID NINNAD INIY GX DY -1 PINN 7PNPNANY MIVAR NNMP 2D 15 100Y
9521 DYNRIPN DMODN DY NNV NITO Dapd mn by ( stdlib n»aaonn) srand() NY8pna wonwnd Y

»97 ,main -n P2 srand(time(0)); NTpon NN y¥ax time.h 1979010 NX 51555 ¥ MWK N8N
AN MWYS N2IN PR) .NPSPN INIPN

int check location(char Table[SIZE][SI1ZE],char word[],int Xx,int y,int (5
direction)

TPNPNAN .NDMIN NN NIWD 11 DR, NONNN NTIPI ,NNN0N NI NAY PITAN NINPNN
.0 92NN NN NINK 1N NNDWN OX 1 3INN

int assign_words(char words[WORDS NUM][LENGTH] , int num_words) (6
Table[SIZE][S1ZE], char

95 1Y INRY . put_word P8PNAY NNIP MY NTONA OIDMIN NNOYI NN XIVN MNP
ND 7PNPNON ON .NPXIPN NPNIND NN OOPXIN NMIMIPNRN NN XINN MIXPNN 009701
0 MDD N L,NINK .1 PINN NN L,DD0N DO NN NAWD NNOSN

int find_word(char Table[SI1ZE][SI1ZE], char word[],int x,int y) (7

DHPRINMIND TNN MONI INKNI 1IN ONRD, MV TNNIPI NNMDN 12D NIY PITIAN NINPNON

12 11190 NRAINN FPIPNAN NN 19NN OX (7 \ | == ) DWW \IDWN ONPIN TN
=100, NINN 090N N¥IWN
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(8
id highlight_solution(char Table[SIZE][SIZE], char word[],int x, int vy,

int direction)

MIND DIPD ,NIRNNIY NI DAPN MIXPNON NN NYIVA NN NI WIITN MINPNON
DN : NINTY . Upper case -2 lower case -1 NN 7y NN NN WIHNTN,XIDWN N NMNIYRIN
NY202 NNYN YN NN TN NMIPMI NN YN WHNWNN DXYNRN NndYwIa s class nbnn

. CLASS -5 nvann
YA NINK NDMIN PON DN MWITIND NPMND 1A NIPND DX NAYNA NNPY W NID

int get_all_locations(char Table[SIZE][SIZE],char 9

words[WORDS_NUM][LENGTH],
int num_words)

NN VRNYNNN DIYPN ,A0W D2 NMOTYN D¥DNN NNOWI DRI NPNONN NDAVN NX 1NN PPN
2Y ML TNNIPN NN YHNWNNIND DIZPN NIXPNON .NINNDD PINYNI XN NNIN NN 1900

ININ ,NIN 2DV .DINNND NYTIN DTN ,DIPND ININD NINNND) NN ONN PITAN ,NDMIN

TO) . PIAMAY NIDTY DN NNOW DD 12DINY 290 MVITIN MNNON DIDMIN N2 NNIONN

PDOU MU TNNIP WP WRNUNNY TY IN,MNNDIN D01 DIV TY DN PRvND

9900 NNYY DDMNN NNINNI MNISNN 90N NN DIOTN MISPNN DIDMIN DI NNONN INND

. 9990 DYoo

(tifzoret.c) ,m1n X1 ,(tifzoret.h) MAINSN YIP : DINAP NVIDYY TN NN PIND YW @
NN .NNYO1 DMNIY S (tifzoret_ main.c) main -n nPsPNS NN HIOW NOYIN NP
Makefile -n nx MY v 10295 8, Unix -2 make nTipon mysnna y8ao v ms»ampn
DNPN INND

STISN AY MADN NPSPNY PTHIND ) @

. DNPN INNI VOY/VIP MNOINTINY  ®
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/* tifzoret.h */

#ifndef TIFZORET H_
#define _TIFZORET H_

#define SIZE 15
#define WORDS NUM 15
#define LENGTH 10

void init_table(char Table[SIZE][SIZE]);

int get_words(char words[WORDS_NUM][LENGTH]);

void show_table(char Table[SIZE][S1ZE], char words[WORDS_NUM][LENGTH], int
flags[WORDS_NUM], int num_words);

int put_word(char Table[SIZE][SIZE],char word[]);

int check location(char Table[SIZE][SI1ZE],char word[],int X,int y,int direct);
int assign_words(char Table[SI1ZE][S1ZE], char words[WORDS_ NUM][LENGTH], int
num_words);

int find_word(char Table[SIZE]J[SI1ZE], char word[],int Xx,int y);

void highlight_solution(char Table[SIZE][SIZE], char *word,int X, int y, int
direction);

int get_all_locations(char Table[SIZE][S1ZE],char words[WORDS_ NUM][LENGTH], int
num_words);

#endi f

[* tifzoret.c */

#include<stdio.h>

#include<string.h> /* for strlen() */
#include<stdlib.h> /* for rand() */
#include"tifzoret._h"

int get_words(char words[WORDS_NUM][LENGTH])
{
int num_words,i;
do{
printf("*How many words do you want to enter? (1 - %d)\n',WORDS_NUM);
scant('%d"", &num_words) ;
Iwhile(num_words>WORDS NUM]] num_words<=0);

for(i=0; i<num_words;i++)
{
do{
printfF("'Enter word (1-%d charactes): " ,LENGTH -1);
scanf("'%s" ,words[i]);

if(strlen(words[i]) > SIZE)
printf("*Wrong input\n');
Iwhile(strlen(words[i]) > SIZE);

return num_words]
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void init_table(char Table[SIZE][SIZE])

{
int i,j;
Ffor(i=0;I<SIZE;i++)
for(§=0; J<SIZE;j++)
Table[i][J]="\0";
}

void show_table(char Table[SIZE][S1ZE],char words[WORDS_NUM][LENGTH], int
Fflags[WORDS_NUM], int num_words)

{
int i,j;
printf(''\n");
for(i=0 ; I<SIZE ; i++)
for(J=0 ; J<SIZE ; j++)
printf('[%c]", Table[i]1);
printf(’'\n"");
printf(C"\nFind the following words:\n");
for(i=0; i<num_words;i++)
if(flags[i1]==0)
printf('(%d) %s\n",i+1,words[i]);

printf(''\n"");
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int put_word(char Table[SIZE][SIZE],char word[])

{
int direction, tries=0;
int x,y,i;
while(tries < SIZE*SIZE)
{
x=rand(Q%SI1ZE;
y=rand(Q%SI1ZE;
direction=rand()%4;
switch(direction)
{
case O: /* for the right */
if(check_location(Table,word,x,y,0)==1)
{
for(i=0;i<strlen(word);y++,i++)
Table[x][y]=word[i];
return O; /* returns "0" in case of success
*/
}
break;
case 1: /* for down */
if(check_location(Table,word,x,y,1)==1)
{
for(i=0;i<strlen(word) ;x++,i++)
Table[x][y]=word[i];
return 1;
}
break;
case 2: /* for right diagonal */
if(check_location(Table,word,x,y,2)==1)
{
for(i=0;i<strlien(word);y++,X++,i++)
Table[x][y]=word[i];
return 2;
}
break;
case 3: /*for left diagonal */
if(check_location(Table,word,x,y,3)==1)
{
for(i=0;i<strlen(word);y--,X++,i++)
Table[x][y]l=word[i];
return 3;
}
i
tries++;
}
return -1; /* in case of failure */
}

int check location(char{fable[SIZE][S1ZE],char word[].,int x,int y,int direct)
{

int i;
switch(direct)
{

case O:
if(yt+strlen(word)>=SIZE)
return O;
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case 1:

case 2:

case 3:

}

for(i=0;i<strlen(word);y++,i++)

{
iT(Table[xX1Ly]l!="\0" && Table[x]Lyl!'=word[i])
return O;
}
break;

if(x+strlen(word)>SI1ZE)

return O;
for(i=0;i<strlen(word) ;x++,i++)
{
if(Table[x][y]1'="\0" && Table[x][y]l!'=word[i])
return O;
¥
break;

if(y+tstrien(word)>SIZE || x+strlen(word)>SIZE)

return O;
for(i=0;i<strlien(word) ;y++,X++,i++)
{
if(Table[x][y]1'="\0" && Table[x][y]l!'=word[i])
return O;
}
break;

if(strlen(word)>y || x+strlen(word)>SI1ZE)

return O;
for(i=0;i<strlien(word);y--,X++,i++)
{
if(Table[x]Ly]1!'="\0" && Table[x][y]l'=word[i])
return O;
by

return 1; /*for success */
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int assign_words(char Table[SI1ZE][S1ZE], char words[WORDS NUM][LENGTH], int num_words)
{

int 1,j;
for(i=0 ; i<num_words ; i++)
if(put_word(Table, words[i])==-1)
return O;

for(i=0 ; 1 < SIZE ; i++)
for(J=0 ; J<SIZE ; j++)
if(Table[i][J1=="\0")
Table[i][J] = randQ%(26)+97;

return 1;

}
int find_word(char Table[SIZE][S1ZE], char word[],int X,int y)
{

int i;

int counter=0;

int x1,yl;

X1=x;
yl=y;

for(i=0 ; i<strlen(word) || Table[x1][yl]!'=word[i] ; yl++,i++)
if((Table[x1][yl]==word[i]) || (Table[x1][yl] == word[i1]-32))

counter++;
if(counter==strlen(word))
return O;
X1=X;
yl=y;

counter=0;

i<strlien(word)||Table[x1][yl]!'=word[i] ; Xx1++,i++)

for(i=0 ;
== word[i]-32))

if((Table[x1][yl]==word[i]) || (Table[x1][y1]
counter++;

if(counter==strlen(word))

return 1;

X1=x;

yl=y;
counter=0;

for(i=0 ; i<strlen(word)]||Table[x1][yl]!'=word[i]
if((Table[x1][yl]==word[i]) || (Table[x1][y1]

5 Y1+, X1++,0+4)
== word[i]-32))

counter++;
if(counter==strlen(word))
return 2;
XT=Xx
yI=y;

counter=0;

for(i=0;i<strien(word) || Table[x1][yl]!'=word[i];yl--,x1++,i++)
if((Table[x1][yl]==word[i]) |] (Table[x1][y1l] == word[i]-32))
counter+#;
if(counter==strilen(word))
return 3;
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return -1;

}

void highlight_solution(char Table[SIZE][SIZE], char *word,int x, int y, int
direction)

{ o
int i;
switch(direction)
{
case O:
for(i=0 ; i<strlen(word) ; y++,i++)
Table[x]Ly]l = word[i] - 32;
break;
case 1:
for(i=0;i<strlen(word) ;x++,i++)
Table[x][y] = word[i] - 32;
break;
case 2:
for(i=0;i<strlen(word);y++,x++,i++)
Table[x][y] = word[i] - 32;
break;
case 3:
for(i=0;i<strlen(word);y--,x++,i++)
Table[x][y] = word[i] - 32;
break;
}
}

int get_all_locations(char Table[SIZE]J[SI1ZE],char words[WORDS_NUM][LENGTH], int
num_words)

‘.
int i;
int success=0,failure=0;
int choice,x,y,direction;
int flags[WORDS_NUM];
for (i=0 ; I<WORDS_NUM ; i++)
flags[i]=0;
while(success < num_words)
{
show_table(Table,words,flags,num _words);
do{
printf("'Chose word number:");
scanf("'%d",&choice);
if(choice<l || choice>num_words)
printf("'Chose right option!\n");
Jwhile(choice<l || choice>num_words);
if(flags[choice-1]==0)
printf(C"\nEnter location (row and column) of the
words) ;

printf("'%s" ,words[choice-1]);

printfF('\nTo end the game please enter non positive
values\n™);

printf(""Enter row number:');

scanf('%d™, &x) ;

printf("Enter column number:');
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scanf("'%d",&y);
if(x<=0 || y<=0)

printf(""*end of game*.\n"");

return O;

}

if((direction = find_word(Table,words[choice-1],x-1,y-

1)) 1= -1)

{
printf(""**Right answer**\n');
flags[choice-1]=1;
highlight_solution(Table,words[choice-1],x-1,y-

1,direction);

success++;

}

else

{

printf("##Wrong answer##\n');
failure++;
}
}
else
printf("'you have already guessed this word\n™);
}
if(success == num_words)

show_table(Table,words, flags,num_words);
printf(C"\nYou have guessed all the words!\n");
printf("'The final score is: %d/%d\n",success,success+failure);

return 1;

72



/* main */

#include <stdio.h>
#include <time.h>
#include <stdlib.h>
#include "tifzoret.h"”

int main()
char Table[SIZE]J[SI1ZE];
char Words[WORDS_ NUM][LENGTH];
int num_words=0;

srand(time(0));
init_table(Table);

it (assign_words(Table,Words,num_words=get_words(Words)) == 0)
{

printf("'Can®t put the words\n');

return 1;

}
get_all_locations(Table,Words,num_words);

return O;
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AYNNH FP1IY NN

N70VN 72 909170
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19/6/05 :nwan Poann

1
NYTON YW M8LVINIS NN 3,0,6,5,2 ,5wnD .NITON MIAN DI HY INWHD NTO NN DMIDN NITO HY AI8VINIS

STIVNRN IR DY IRIPR 7PNVINT NPTNNI N IONN NN DXIOY DY TIvN NYIAPNN MSPN9 Y PHn .5,6,0,2,3
12,0990 NVTO HYWHONWID PXVINTD YAPNN PIPNON DY NOYIN YW NN THIRIPN MINVINID DY MYNWNN
9901 NN K 0YY 19010 nYaPND L0SS NPXPNN WHNWNY 11 .ANY NN 1PSVINI YD NHIAPY MIANvNNY
5y ,9m95) O(1) : ©1p1n N1512>0 .0(N) : Y97 NPIIDO .NINK PPN G2 wHNwnD PN .K-1-5 0 2 )XIPR DOW
901 TIVN2 VIOYW KDY NHAPN NNV TIVNN IR NX YTNND TOD MDIXPNN

A1NY B0y 10SS NIYPNON NN

2
D55 9T 7901 DOTNY PXPNAN DY .MaxX DoV 190171 ,N 10T NN ,a ,DMOV DY TIvN NYAPNN PSPN PN
.max Yy Ny’ XY DXOTINN DXI9DNN DDV T252),TIVNN MIAN DY TWIND

.6,1,-8,-12 ©»901nn NN ©971NY P8PNon Yy ,0 X max-1 6,1,-8,-12,37,38,39,15 n1on N vOPN DN ,5VNY
YN IR NOTNN ITO

0PN 119220 HY 192N PN ADIPN RO INY 1M N12>02 MNINS LO(N log N) 12 Tayd mxpnoan by
void print_max(int a[], int n, int max)

3
TPNPND YPTIN (NN NDD) MIXIAPH MIAN NN DIDIDINN DIDIYN MYNNNI DOV D901 HYW MNP DIN»N

(lenc yox DY) € TIvn NN, lenb-y lena onYoIN NNy b1 a ,0ombw Hv DYYN »w NP intersect owa
DTN X992 W) by a > by nnsvnn mxapn Y PRnn AN 1Y

NN XMWY TIVN NND pspnen by ,{6,1,-8,-12,37} nx1apn b-1 {38,39,6,51,1,-8} n¥1apn N0 a ox ,ownd
{6,1,-8} n¥1apn

NY 9N 1M NP0 NINING Jenb-y lena yan Symin 830 N-vwo ,O(N log N) yata 1ayd mspnan by
Aoapm

void intersect(int a[], int lena, int b[], int lenb, int c[], int *lenc)
A4

MMNHD TP POOD INNPYN MMNKD MNY) NPNKD N2 NTHNY D) NNV YD DX NMNN NINIPI A N¥IVN
.(NVNO NYYNON
NP 1AND

int findNum (int matrix[SIZE][SIZE], int n, int number)
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[* permutation.c */

#include <stdio.h>

int toss(int k) {

return random(QQ%k;

}
void permutation(int arr[],int n) {
int i,tmp, index;
for(i=0 ; i<n ;i++) {
index=toss(n-i)+i;
tmp=arr[i];
arr[i]=arr[index];
arr[index]=tmp;
}
/* max.c */
#include <stdio.h>
void sort (int array[], int size); /* mergesort - O(n log n) */

void print_max(int a[], int n, int max)

{
int sum=0,1i;
sort(a,n);
for (1=0; i<n && a[i]<0; i++) {
sum += a[i];
if (sum<=max) {
for (J=0; j<i; j++) {
printf('%d ", a[j1);
y }
while (i<n && (sum+=a[i])<=max) {
printf('%d *,a[i++]);
}
printf(''\n"");
}
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/* intersect.c */

#include <stdio.h>

void sort (int array[], int size);
int binsearch (int n, int v[], int low, int high);

void intersect(int a[], int lena, int b[], int lenb, int c[], int *lenc)

{ .
int 1=0;

*lenc=0;
sort(b,lenb);
for(i=0 ; i<lena ; i++)
if(binsearch( a[i],b,0,lenb-1) 1= -1 ) {
c[*lenc]=ali]l;
(*lenc)++;

}
/* matrix.c */

#include <stdio.h>
#define SIZE 20

int findNum (int matrix[SIZE]J[SIZE], int n, int number)

{
int =0, j=n-1;

if(n==0)
return O;

while(matrix[i][j] '= number) {
if(matrif[i][j] > number)

J---
else
i++;
if(i==n || j== -1)
return O;
3
return 1;
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/* sqrt example */

#include <stdio.h>
#include <math.h>

int main ()
{
double~param, result;
param = 1024:20;
result = sqgrt&(param);
printf (sqrt(%¥f) = %IF\n"", param, result );
return O;
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#include <stdio.h>
#include <math.h>

#define PIE 3.14159

int main()

{

double radius, a;
double area_rect;

printf("'please enter radius value:'); /* get the values from the user */
scanf(C'%lf",&radius);

printf("'please enter "a" value:');

scanf("'%lf",&a);

area_rect = sqrt(4*radius*radius - a*a) * a; /* print the results */
printf("'The area of the rectangle is: %f\n', area_rect);

printf("'The area of the circle is: %f\n", PIE*radius*radius);
printf("'The area of the square is: %f\n", 4*radius*radius);
printfF("'The area of the triangle is: %f\n", area rect/2);

return O;
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/* numbers.c */
#include <stdio.h>

int main(Q)

int number,option;
int dig_1, dig_10, dig_100, dig_1000;

printf("'Please enter a number:');
scanf("'%d"", &number) ;

if(number < 1000 |] number > 9999) {
printf('wrong inputi\n™);
return 1;

}

printf("'Please choose one of the following options:\n");
printf("'(1) count the sum of the number®s digits.\n");
printf("'(2) print the number in reverse order.\n");
printfF(""(3) Exit.\n");

scanf("'%d",&option);

switch(option)
{

case 1:

dig_1= number%l0; /* Extracting the 1th digit */
dig_10= (number /10) %10; /* Extracting the 10th digit */
dig_100= (number /100)%10; /* Extracting the 100th digit */
dig_1000= (number /1000)%10; /* Extracting the 1000th digit*/
printf("'The sum of digits of the number %d is: %d",number,

dig_1 + dig_10 + dig_100 + dig_1000);

break;

dig_1= number%10;

dig_10= (number /10) %10;
dig_100= (number /100)%10;
dig_1000= (number /1000)%10;

printf("'The reverse number of %d is: ',number);

if( dig_1 '=0)
printf("'%d",dig_1);

if( (dig_1 '= 0) || (dig_10 = 0) )
printf(""%d",dig_10);

if( (dig_1 '=0) || (dig_10 '=0) |] (dig_100 !'= 0) )
printf("%d",dig_100);

printf("'%d\n",dig_1000);

break;

printF("Exit\n");
break;

printf(’'You didn*t choose a valid option.\n"");

case 2:
case 3:
default:
b
return O;
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/* characters.c */

#include <stdio.h>
#include <ctype.h>

int main()

{
char ch;
printf("’Enter a character:");
scanf("'%c™",&ch);

iT (isalpha(ch)) {
switch (ch) {
case "A" :
case "E" :
case "I-
case "0O°
case "U-
case "a
case "e
case "i1"
case
case

o
u

printf("'The character %c is a vowel.\n",ch);
break;

default :

printf("'The character %c is a consonant.\n',ch);
break;

}

} else if (isdigit(ch))
printf("'The character %c is a digit.\n",ch);
else if (isspace(ch))
printfF("'The character %c is a space.\n',ch);
else 1T (ispunct(ch))
printf("'The character %c is not a digit and not an alphabethical
character._\n",ch);
else {
printf("'Unexpected character |%c] in input\n",ch);
return(l);
}

return O;
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#include <stdio.h>

void play_game();

void initialize_piles();
void display piles(Q);

int all_done();

int get_human_move();

int select_computer_move();

int pilel, pile2;

/*
This function decides who start the game andmanages the game between the user
and the

computer step by step. The function display the current situation after every
move.

At the end, the function prints who won the game */
void play_game()
{

int chips_removed;
int turn;

printf('Initial Situation:\n");
display piles(Q);

if(pilel==pile2) { /* user start playing */
printf('User starts playing.\n");

turn= 0O;
}
else {
printfF("'Computer starts playing-\n');
turn= 1; /* computer start playing */
}
while (1) {
if (turn) {
chips_removed = select_computer_move();
printf("'The computer has removed %d \n",chips_removed);
it (all_done()) {
printf("**** The computer has won! ***\n'");
break;
}
else {
get_human_move();
i# (alldone()) {
printf*** Congratulations - you have won! ***\n');
break;
¥
+

/* display the new[situation */
display piles(Q);

/* 1t"s now the /other player"s turn */
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turn = turn;

}

/* This function gets the initial state from the user */

void initialize piles()

printf("'Please enter number of matches in pile 1:');

scanf("'%d",&pilel);

printf("’'Please enter number of matches in pile 2:');

scanf("'%d™",&pile2);

/* This function displays the number of chips in each of the piles. */

void display_piles(Q

L
int i;
printf('%d :
for (i=0 ; i<pilel*2 ; i++)
printf('-");
printf(''\n"");
for (i=0 ; i<pilel ; i++)
printf(*| *);
printf('’'\n");
for (1=0 ; i<pilel*2 ; i++)
printf(’'-");
printf(’'\n");
for (i=0 ; i<pile2 ; i++)
printf(*| );
printf(''\n"");
for (i=0 ; i<pile2*2 ; i++)
printf('-");
printf(’'\n"");
}

%d \n",pilel,pile2);

/* returns "true”" if there are no more chips left in the piles */

int all_done()
{

it ((pilel > 0) jj (piiez > 0)) {
/* there®s something in pile

return O;

>

n

, SO we"re not done */

return 1; /* there are) no chips in any of the piles, so we"re done */
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/* obtains a valid human move by repeatedly asking for a move until valid
input is supplied. assumes that there is at least one legal move. */

int get _human_move()

{
int pile, chips;
while (1) {
printf("'Please enter pile number and chips to remove: ');
scanf("'%d%d" ,&pile,&chips);
iT ( ((pile == 1) && (chips <= pilel)) || ((pile == 2) && (chips <= pile2)) )
{
break; /* we have a valid move */
}
printf('**** Invalid pile number or number of chips. ****\n");
}
if(pile == 1)
pilel -= chips;
if(pile == 2)
pile2 -= chips;
return chips;
}

/* given the current suituation, selects a computer move.
it is assumed that there is at least one possible move. */

int select_computer_move()

{
int extrabits = 0;
int mypile, mysticks;

extrabits
extrabits

extrabits N pilel;
extrabits N pile2

if (extrabits == 0) {

it (pilel) {
mypile = 1;
mysticks = 1;

it (pile2) {
mypile = 2;
mysticks = 1;

}
} else {
it ((piler 2 extrabits) < pilel) {

mypile = 1;
mysticks = pilel - (pilel ™ extrabits);

}
it ((pile2ifextrabits) < pile2) {
mypille = 2;
mysticks = pile2 - (pile2 ™ extrabits);
}
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if(nypile ==1)

pilel -= mysticks;
if(nypile ==2)

pile2 -= mysticks;
return mysticks;

3
int main(Q)
int play=1;
while(play) {
initialize piles();
play_game Q);
printf("'Do you want to play again? (1/0)");
scanf('%d",&play);
3
return O;
3
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#include <stdio.h>
#include <stdlib.h>

#define N 20
#define M 20

void sanity_check_picture(int p[N][MD:
void read_picture(int p[N][MD);

void print_picture(int p[N]J[MD);

int check_image(int p[N]1[MD);

void sanity_check picture(int p[N][M]) {
int i,j;
Ffor(i=0;i<N;++i) {
for=0;j<M;++j) {
if (1(O==p[i]103] Il 1==p[i10D) {
printf(’'Sanity check detected an unexpected value ™
"in row %d and column %d: %c\n", i,jJ,pLi101):
exit(EXIT_FAILURE);

void read picture(int p[N]JIMD {
int i=0,j=0,c;
while( EOF!=(c=getchar())) {
switch(c) {

case
case "\t":
break; /* ignore spaces and tabs */
case "\n":
++1i;
3=0;
break; /* newline character means a line is over */
case "0":
case "1":
p[il[j++]=c-"0"; /* convert "1 or "0" to 1 or O */
break;
default:
printf(""Invalid input in row %d and column %d: %c\n",
1,J,C);
exit(EXIT_FAILURE);
}
sanity check_picture(p); /* make sure all cells are filled correctly */
}
void print_picture(int p[NJiM]) {
int i,j;
Tor(i=0 i=Ns++i){
for(J=053<M;++J) {
printf(C'%d ", p[il0OD;
¥
putchar (*\n*") ;
}
}
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int check_image(int p[N]1[MD)

{
int 1=0,j=0;
int tmp_i=-1, tmp_j=-1, last i=-1, last_j=-1;
int flag=0;

for(i=0 ; i<N ; i++) {
forg=0 ; j<M ; j++) {
iIf(pLilb1==1D) {

tmp_i=i;
tmp_j=j;
break;
}
}
if(pLil01==1)
break;
3
do{

if(p[tmp_i-1][tmp_j] && (tmp_i-1 = last i || tmp_j != last j)) {
/* direction: up */
last_i=tmp_i;
last_j=tmp_j;
tmp_i=tmp_i-1;
}

else 1f(p[tmp_i+1][tmp_j] && (tmp_i+1 = last i || tmp_j !'= last j))
{ 7/* direction: down */
last_i=tmp_i;
last_j=tmp_j;
tmp_i=tmp_i+1;
}

else if(p[tmp_i][tmp_j-1] && (tmp_i != last i || tmp_j-1 !'= last j))
{ 7/* direction: left */
last_i=tmp_i;
last_j=tmp_j;
tmp_j=tmp_j-1;
}
else if(p[tmp_i][tmp_j+1] && (tmp_i !'= last i || tmp_j+1 !'= last j))
{ 7/* direction: right */
last _i=tmp_i;
last_j=tmp_j;
tmp_j=tmp_j+1;
}

elise iIf(p[tmp_i-1][tmp_j-1] && (tmp_i-1 '= last_i || tmp_j-1 !I=
last j)) { /* direction: up left */
last_i=tmp_i;
fast j=tmp_j;
Top_i=tmp_i-1;
thp) j=tmp_j-1;

¥
else if(p[tmp_i-1][tmp_j+1] && (tmp_i-1 != last i1 || tmp_j+1 I=

last\j)) { /7* direction:/up right */
bast_i=tmp_i;
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last_j=tmp_j;
tmp_i=tmp_i-1;
tmp_j=tmp_j+1;

else if(p[tmp_i+1][tmp_j-1] && (tmp_i+1l '= last_i || tmp_j-1 I=

last_j)) { /* direction: down left */
last_i=tmp_i;
last_j=tmp_j;
tmp_i=tmp_i+1;
tmp_j=tmp_j-1;

else if(p[tmp_i+1][tmp_j+1] && (tmp_i+1l '= last_i || tmp_j+1 I=

last _j)) { /* direction: down right */
last_i=tmp_i;
last_j=tmp_j;
tmp_i=tmp_i+1;
tmp_j=tmp_j+1;
}

else
return 1;

Wwhile(Ctmp_i =@ || tmp_j '= j);

return O;
}
int main()
{
int i,j;
int p[N][M];
read_picture(p);
printf("'The image is: %d",check_image(p));
return O;
}
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/* doubly linked list.c */
#include <stdio.h>
#include <stdlib.h>

typedef struct cell *CellPtr;
typedef struct cell {

int contents;

CellPtr next;

CellPtr prev;
} Cell;

void print_list(CellPtr list);
void print_rev(CellPtr list);
CellPtr insert_first (CellPtr list, int input);
CellPtr remove_first (CellPtr list, int* input);

void print_list(CellPtr list)

CellPtr tmp;
for (tmp=list ; tmp '= NULL ; tmp=tmp->next)
printf(C'%d *',tmp -> contents);
}

void print_rev(CellPtr list)

CellPtr tmp;
for (tmp=list ; tmp '= NULL ; tmp=tmp->prev)
printf("'%d '',tmp -> contents);

CellPtr insert_first (CellPtr list, int input)

{
CellPtr tmp;

if (1(tmp=(CellPtr)malloc(sizeof(struct cell))))
exit(EXIT_FAILURE);

tmp -> contents = input;

if (list == NULL) { /* if the list is empty */
tmp -> next = NULL;
tmp -> prev NULL;
list = tmp;
return list;

}

tmp -> next = list;
list -> prev = tmp;
tmp -> prev = NULL;
list = tmp;

return list;

}
CellPtrremove fTirst/(CellPtr list, int* input)
{

CellPtr tmp;

if (list==NULL) /* if the list is empty */
return NULL;

it (list->next == NULL) { /* if the list contains one element */
*input = list=>contents;
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free(list);

return NULL;
}
tmp = list->next;
tmp -> prev = NULL;
*input = list->contents;
free(list);
return tmp;

}

int main()

{

CellPtr 11,12,13,1ist,last;
int value;

11=(CellPtr)malloc(sizeof (struct cell));
12=(CellPtr)malloc(sizeof (struct cell));
13=(CellPtr)malloc(sizeof (struct cell));

6;
1;
_8;

11->contents
12->contents
13->contents

11->next=12;
12->next=13;
13->next=NULL;

13->prev=I12;
12->prev=I11;
11->prev=NULL;

list=11;
last=13;

printf('\n"");
print_list(list);

printf(''\n"");
print_rev(last);

printf(’'\n");
list=insert_first(list,23);

printf(’"\n"");
print_list(list);

printf(’'\n"");
print_rev(last);

list = remove_fTirst(list,&value);
printE=CN\n ")

prant_list(1ist),;

printF(""\nThe deleted value is %d\n",value);

free(ll);
free(l12);
free(3);
free(list);
free(last);
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/* copy_list.c */
#include <stdio.h>

typedef struct cell *CellPtr;
typedef struct cell {

int contents;

CellPtr next;
} Cell;

CellPtr copy_list (CellPtr list);
void print_list(CellPtr tmp);

CellPtr copy_list (CellPtr list)
{
CellPtr head,tmp,new_cell;
tmp=NULL;

iT(list==NULL) {
printf("'The list is empty.\n');
return NULL;

}

else IT(NULL==(new_cell=(CellIPtr)malloc(sizeof(Cell))))
exit(l);

new_cell -> contents = list -> contents;

tmp=new_cell;

head=new_cell;

list=list->next;

while(list 1= NULL) {

iT(NULL==(new_cell=(CellPtr)malloc(sizeof(Cell))))
exit(l);
new_cell -> contents = list -> contents;
tmp -> next = new_cell;
tmp=tmp->next;
tmp->next=NULL;
list=list->next;
}
tmp->next=NULL;

return head;

void print_list(CellPtr tmp)

{
while(tmp = NULL)

{

printf("'%d ", tmp->contents);
tmp=tmp->next;

-
putchar(*\n*);
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int main()

{

CellPtr I1[4],tmpl,tmp2;
int i;

for(i=0;i<4;i++)
I[i]1=(CellIPtr)malloc(sizeof(Cell));
for(i=0;i<4;i++)
I[i]->contents=i+1;
Ffor(i=0;i<4;i++)
I[i]->next =I[i+1];
1[3]->next=NULL;

tmpl=1[0];

printf('List 1: ');
print_list(tmpl);
tmp2=copy_list(1[0]);
printf('copy List : ');
print_list(tmp2);

return O;
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1

Introduction to Computer Science
Homework assignment 1

Submission deadline: 30/10/2002 at midnight

October 21, 2002

The problem

Write a computer program that reads five numbers and prints the sum of the five numbers.

2

1.
2.

Submission guidelines

Your program should comply to ANSI-C, otherwise your grade will be zero.

Your program should be submitted on-line through the course site before the deadline. Late submis-
sions or no submissions will result in a grade of zero.

. Submit only your source code (the .c file), do not submit any other file.

You should not submit any paper prinout of your source code.

. Think of problems you might have with the input or with your calculations and implement a solution

(e.g. what if the user gives you incompatible input?)

Submission process

. First go to http://cs.haifa.ac.il/courses/csintro/course_registration_form.html and fill out the form in

order to obtain a username and a password. Note that you don’t get your username and password
immediately, so don’t postpone this part to the last minute. Getting your username and passwrd is
something you do only one time, so if you already did it, don’t do it again!

Next you need to have your source code file ready on your local computer.

. Next you need to fill out the upload form at http://cs.haifa.ac.il/courses/csintro/upload_form.html,

which means putting your username and password, specifying the homework number (in this case
thethomework number is 1), and finally selecting the file to upload. Then you click on the SUBMIT
button.

Make sure the operation was successful!
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*

Introduction to Computer Science
Winter 2002-2003
Suggested solution for homework assignment #1

The program should read 5 numbers from the standard input and print
to the standard output the sum of the five numbers.

You may assume legal input and you don’t have to worry about overflow
and other problems, and you don’t have to do any error handling.

¥ X K X ¥ X X ¥ ¥ O

*

*/

#include <stdio.h>

int main() {
float num?l,num2,num3,numé4,num5, sum;
scanf ("%f%f%ft%f%f " , &num1 , &num?2 , &num3 , &num4 , &numb) ;
sum = numil+num2+num3+numé+numb ;
printf ("%Ef+%E+%E+%E+%f=%f\n" , num1, num2 , num3, num4, num5, sum) ;
return 0;
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Introduction to Computer Science
Homework assignment 2

Submission deadline: 6/11/2002 at midnight

October 27, 2002

1 Quadtaric equation solver

The problem Write a computer program that receives three real numbers: a, b and ¢, and prints out the
solution of the quadratic equation ax? + bx + ¢ = 0. You should make sure that the input is legal (i.e. make
sure a, b and c are real numbers).

How to calculate a square root in C? You should use the sqr#() function. sqrt(x) will return the square
root of X, unless X is a negative number. In order to use sqr#() you need to include math.h and also link the
math library (this is explained further). Here is a short excerpt from the manual:

NAME
sqrt - square root function
SYNOPSIS

#include <math.h>

double sqgrt (double x);

How to link the math library in gcc? Add the switch -lm to the compilation commandline. Here is an
example:

> gcc —-Wall -ansi -pedantic —-1lm myprog.c -0 mMyprog

Input/Output Your program will go through automatic checking, so it must take input and give out-
put exactly according to the instructions and input/output examples. Assuming we call our executable
quadratic_equation_solver, and that the commandline prompt is marked with >, please consider the ex-
amples in the appendix.
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Submission You should submit your homework at the homework submission form at the following URL:
http://cs.haifa.ac.il/courses/csintro/upload_form.html. Be sure to select properly the assignment number
(you don’t want to submit this as any assignment other than 2, right?!), and to properly select the source-
code files from your disk. Please name your source-code file quadratic_equation_solver.c. Please notice that
all students not submitting their exercise before the deadline will receive O as their grade.

What to check before submision?

1.

2.

Your code should compile with gcc with all the flags we use in class
You binary should run and not crash.
Your input and output should be exactly like the examples on the same input as in the examples.

Don’t add or reduce anything beyond to what you see in the examples.

. Your program should also work properly on other values of a, b and c than seen in the examples.

If the input is invalid, return EXIT_FAILURE, and return EXIT_SUCCESS on any other possibility.
Invalid input is everything that does not conform to the problem definition. Input that does conform
to the problem definition is valid.

Submit the source code and not the executable
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A Input/Output Examples

In the following example, the values are a = 0, b = 0 and ¢ = 0.

> ./quadratic_equation_solver

Please input the coefficients a, b and c¢ for the quadratic equation:
000

Infinite number of solutions: O

>

In the following example, the values are ¢ = 1, b = 8 and ¢ = 15.

> ./quadratic_equation_solver

Please input the coefficients a, b and ¢ for the quadratic equation:
1 8 15

The equation 1.000000X*X+8.000000X+15.000000=0 has two solutions:
-3.000000

-5.000000

>

In the following example, the values are a = 1, b =2 and ¢ = 1.

> ./quadratic_equation_solver

Please input the coefficients a, b and ¢ for the quadratic equation:
121

The equation 1.000000X*X+2.000000X+1.000000=0 has one solution:
-1.000000

>

In the following example, the values are a = 2.55, b = 2.55 and ¢ = 2.55.

> ./quadratic_equation_solver

Please input the coefficients a, b and ¢ for the quadratic equation:

2.55 2.55 2.55

The equation 2.550000X*X+2.550000X+2.550000=0 has no solution (for real X)
>

In the following example, the values are a = 0, b = 0 and ¢ = 1.

> ./quadratic_equation_solver

Please input the coefficients a, b and ¢ for the quadratic equation:
001

No solution

>

In the following example, the values are a = 5 4 44, b = 4.14 — 77 and ¢ = 43.

> ./quadratic_equation_solver

Please cinput the coefficients a, b and ¢ for the quadratic equation:
S5+ 3714741043

Problems reading’coefficients. Input may be invalid

>
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#include <stdio.h>
#include <stdlib.h>
#include <math.h>

int main() {
float a,b,c, delta, solution;

printf(”Please input the coefficients a,
if (3!=scanf ("%f%f%f", &a,&b,&c)) |

printf(”Problems reading coefficients.
exit (EXIT_FAILURE) ;

b and ¢ for the quadratic equation:\n”);

Input may be invalid\n”);

}

if (0==a) {

if (0==b) {
if (0==c) {
printf(”“Infinite number of solutions\n”);
} else {
printf(”No solution\n”);
}
} else {
solution = -c¢/b;

printf(”The solution is %f\n”,solution);
}
} else {

delta=b*b-4*a*c;
printf (”The equation %fX*X+%fX+%f=0 has ”,a,b,c):
if (0>delta) {

printf(”"no solution (for real X)\n”);
} else {

if (O0==delta) {
printf(”“one solution:\n”);

solution = -b/(2*a);
printf ("%f\n”,solution) ;

} else {
printf(”“two solutions:\n”);
solution = (-b+sqgrt(delta))/(2*a);
printf(”%f\n”,solution) ;
solution = (-b-sqgrt(delta))/(2*a);

printf(”%f\n”,solution) ;

}
}

return(EXIT_SUCCESS) ;
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Introduction to Computer Science
Homework assignment 4

Submission deadline: Thursday, 21/11/2002 at 7:30am

November 9, 2002

1 C Comments Remover

The problem Write a computer program that reads a valid ANSI-C program from the standard input and
prints it to the standard output without the comments. A valid ANSI-C program is a program that compiles
with no warnings and without any errors using the -Wall -ansi -pedantic flags with the gcc compiler. You
may assume your program receives a valid ANSI-C program.

2 Things to pay attention to

You should call your program’s source file remove_c_comments.c and you should upload only this file as
your homework submission. Please DON’T upload any other file. Make sure you upload the file with the
correct name.

You may want to read about the common mistakes done in previous homework assignments. This
information is available on the course website in the homework section.

Make sure your code compiles with all the flags we saw in class and produces NO errors and NO
warnings. Any source file which produces any warning or error during compilation will be graded 0.

Make sure your code works well, try it on the given examples, and also on other examples, and submit
only after you are sure it works as you expected it to.

Please document your code with short comments explaining not what you are doing, but why you are
doing it.

As usual, late submissions and no submissions will be graded 0. Don’t wait too much before you start
this exercise, make sure you have enough time to get over all the technical problems, make sure you can
submit something. Remember - you can submit your assignment as many times as you like. The LAST
submission before the deadline counts as your official submission.

3 Input/Output Examples

Are available on the €ourse website in the homework section.
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#include <stdio.h>
#include <stdlib.h>

int main() {

int c;
int previous = EOF;
while ( EOF!=(c=getchar()) ) {
if (c==’"' && previous!='\"’") { /* ignore it within strings */
do
putchar(c);
while ( (c = getchar()) !'= """ && c != EOF );
} else if (c=='/") {
if ( (c=getchar()) == '*’ && c != EOF ) {
for ( ; ) |
while ( (c = getchar()) != "*’ && c != EOF )
; /* eat up text of comment */
if (¢ == "*x" ) {
while ( (c = getchar()) == "*" )
if « = "'/")
break; /* found the end */
}
if ( ¢ == EOF ) {
printf ("EOF in comment\n”);
printf(” /* Don’t remove this! */ ”);
break;
}
}
} else {
putchar(’/");
}
}
if (c!=EOF && c!="/") {
putchar(c); /* this is a comment * / inline comment / * **x*¥*x*x%x/
}
previous = c;
}
return O;

104



Department of Computer Science AYNKN YT NN
University of Haifa 19N NVOIIN

Mount Carmel, 31905 Haifa, Israel Phone: +972-4-8240259 Fax: +972-4-8249331 04-8249331 :Dj79 04-8240259 D0 31905 NN , 21791 N

Introduction to Computer Science
Homework assignment 5

Submission deadline: Thursday, 28/11/2002 at 7:30am

November 18, 2002

1 Grades Statistics

The problem Read an unknown number of grades from the standard input (but no more than N grades,
where N is some fixed number) and print out statistical information about the grades. The statistical infor-
mation is, the average, the lowest grade, the highest grade, and a histogram.

The average of K grades is the result of the following calculation:

K-1
1
average(gradeg, grades, ..., gradeg 1) = 74 Z grade;
i=0

The lowest grade of K grades is the result of the following calculation:

lowest(gradeq, grades, ..., gradeg 1) = min(gradeg, grades, ..., gradeg 1)
The highest grade of K grades is the result of the following calculation:

highest(gradey, grades, ..., gradex 1) = maz(gradeg, grades, ..., gradeg 1)

The histogram is a bar graph where there is one bar for every 10 numbers starting from 0 and up to 100.
The partition of the range of the integer numbers from O to 100 should be like this: 0-9, 10-19, 20-29, 30-39,
40-49, 50-59, 60-69, 70-79, 80-89, 90-99, 100-100. Notice that the last bar contains a range of 1 number
while all the rest contain a range of 10 numbers.

A histogram bar contains **’ markers or no markers. If there are no grades in some range than there
should be no markers for that range’s bar. If there are 9 grades in some range then there should be 9 markers
in that range’s bar. See published I/O examples for the exact expected formatting.

2 Things to pay attention to

N-should be a constant set to 100. Make sure you define N as a constant one time and in one place in the
program, as seen in thesrecitations. Do not use the value 100 explicitly at all when 100 refers to N. You may
want to consider defining.other constants too.
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You should call your program’s source file make _statistics.c and you should upload only this file as your
homework submission. Please DON’T upload any other file. Make sure you upload the file with the correct
name.

Your program should read grades until it either reads N grades or encounters an invalid grade. An invalid
grade is anything that cannot be read by scanf() as an int and any number not in [0 — 100].

In case the first thing your program reads is an invalid grade, it should print Invalid input and halt
returning EXIT_FAILURE.

In case your program receives N or less grades, it should print out the average, then the lowest grade,
then the highest grade and finally the histogram and return EXIT_SUCCESS. The average should be printed
with exactly two significant digits after the decimal point.

Grades are expected to be integral number in the range [0 — 100]. The average should be calculated with
double precision. You may assume integral grades.

3 General things to notice

You may want to read about the common mistakes done in previous homework assignments. This informa-
tion is available on the course website in the homework section.

Make sure your code compiles with all the flags we saw in class and produces NO errors and NO
warnings. Any source file which produces any warning or error during compilation will be graded 0.

Make sure your code works well, try it on the given examples, and also on other examples, and submit
only after you are sure it works as you expected it to.

Please document your code with short comments explaining not what you are doing, but why you are
doing it.

As usual, late submissions and no submissions will be graded 0. Don’t wait too much before you start
this exercise, make sure you have enough time to get over all the technical problems, make sure you can
submit something. Remember - you can submit your assignment as many times as you like. The LAST
submission counts as your official submission. Make sure your last submission is before expiration of the
submission deadline.

4 Input/Output Examples

Are available on the course website in the homework section.
Use diff on study.haifa.ac.il to make sure your output looks EXACTLY like the published examples, and
also that your output looks like the output the available binary produces.
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/* make_statistics.c

Solution to homework assignment #5

*
*/

#include <stdio.h>
#include <stdlib.h>

#define
#define
#define
#define
#define

#define

N 100

LOWEST_POSSIBLE_GRADE 0
HIGHEST_POSSIBLE_GRADE 100
BUCKETS 11

BUCKET_DIFF 10

INVALID_INPUT_MSG “Invalid input”

int main() {

int min=HIGHEST_POSSIBLE_GRADE;
int max=LOWEST_POSSIBLE_GRADE;
double sum=0,average;

int grade[N]; /* contains the read grades */

int bucket[BUCKETS]={0};/* counter for each histogram range */
int 1,73

int num_grades=0; /* counts the number of grades read */

for (i=0; i<N; ++i) {

if ( (1'=scanf(”"%d”, &gradel[i])) II
grade[1]1>HIGHEST_POSSIBLE_GRADE ||
grade[1]<LOWEST_POSSIBLE_GRADE ) {

break; /* no more reading input */

}

if (grade[il<min)
min=grade[i];

if (grade[i]l>max)
max=grade[i];

sum+=grade[i];
bucket[grade[i]/BUCKET_DIFF]++; /* update counter in relevant bucket */
++num_grades;

}

if (num_grades<1) { /* must have read only invalid input */
printf(”"%s\n”, INVALID_INPUT_MSG) ;
exit (EXIT_FAILURE) ;

}

average=sum/num_grades;

/* printing the numeric results */
printf(“%.2f\n%d\n%d\n” ,average,min,max) ;

/& jpmimting the histogram */
for (1=LOWEST_POSSIBLE_GRADE;i<HIGHEST_POSSIBLE_GRADE; i+=BUCKET_DIFF) {
prinef ("%3d-%3d:”,1i,i+BUCKET_DIFF-1);
for (4=0; j<bucket[1i/BUCKET_DIFF];++7)
putchar(’"*");
putchgdgx(’ \n");

}

/* attending  the special case of 100-100 */
printf ("%3d-%3d:”,HIGHEST_POSSIBLE_GRADE, HIGHEST_POSSIBLE_GRADE) ;
for (j=0;g<bucket [BUCKETS-11;++3)
puchar( *");
putchar{ZAn’) ;
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return EXIT_SUCCESS;
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Introduction to Computer Science
Homework assignment 6

Submission deadline: Thursday, 5/12/2002 at 7:30am

November 25, 2002

1 The Goldbach conjecture

The problem A famous conjecture, called the Goldbach conjecture, says that every even integer n greater
than 2 has the property that it is the sum of two prime numbers. Computers have been used extensively
to test this conjecture. No counterexample has ever been found. Write a program that will prove that the
conjecture is true for all the even integers between the two read even integers start and finish. Of course,
due to the definition of the conjecture, the start cannot be less than 4.

You get a program called check_goldbach.c, which solves this exercise, assuming the implementation
(goldbach.c) of the interface defined in goldbach.h is available.

In other words, you get the main file check_goldbach.c, you get the interface file goldbach.h, and you
also get a Makefile (to help you with the compilation); and you need to implement the interface using a file
called goldbach.h.

As usual, input and output files are available on the course website.

2 Primality testing

Definition: A prime number is an integer number greater than 1, whose only two integral factors are 1 and
itself.

The first few prime numbers are 2, 3, 5,7, 11, 13, 17, 19, 23, and 29.

Think how you implement the primality test is_prime. Think about the definition of a prime number,
and how you can use it to make sure a number is a prime using the definition. Then, try to look for a better
solution, a solution which is more efficient.

3 Things to pay attention to

You should not change the filenames of any of the files given to you. You should implement the interface in
a file-called)geldbach.c, and you should upload only this file as your homework submission. Please DON’T
upload any other filex:Make sure you upload the file with the correct name. The other files given to you are
for your use only, and T:don’t want you to upload any of them to me.
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Notice the order of printing, and which number is added to which. To make this easier, use this imple-
mentation

void print_sum_of_two_primes(int n, int i) {
printf ("$d=%d+%d\n",n, i,n-1);

}

so now, you have some of the homework solved for you...

4 General things to notice

You may want to read about the common mistakes done in previous homework assignments. This informa-
tion is available on the course website in the homework section.

Make sure your code compiles with all the flags we saw in class and produces NO errors and NO
warnings. Any source file that produces some error during compilation will be graded 0, and source file
producing warnings will be penalized according to the number of warnings seen.

Make sure your code works well, try it on the given examples, and also on other examples, and submit
only after you are sure it works as you expected it to.

Please document your code with short comments explaining not what you are doing, but why you are
doing it.

As usual, late submissions and no submissions will be graded 0. Don’t wait too much before you start
this exercise, make sure you have enough time to get over all the technical problems, make sure you can
submit something. Remember - you can submit your assignment as many times as you like. The LAST
submission counts as your official submission. Make sure your last submission is before expiration of the
submission deadline.

5 Input/Output Examples
Are available on the course website in the homework section.

Use diff on study.haifa.ac.il to make sure your output looks EXACTLY like the published examples, and
also that your output looks like the output the available binary produces.
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#ifndef __ GOLDBACH_H__
#define _ GOLDBACH_H__

#define FALSE 0

#define TRUE 1

#define INPUT_STRING “Please input two even integers:”

#define COUNTER_EXAMPLE_STRING ”“is a counter example to Goldbach’s conjecture.”

#define INVALID_INPUT_STRING “Invalid input: START and FINISH should be positive even integers and START should be less than FINISH.”

/*
* return TRUE if the argument n is a prime number and FALSE otherwise
*/

int is_prime(int n);

/*
*¥ return TRUE if the argument n is a sum of two prime numbers and FALSE otherwise
* (remember that if n is the sum of two primes i and n-i, than returning i is
* like returning a true value (as i cannot be 0)).
*/

int is_sum_of_two_primes(int n);

/*
* This function is explained in the exercise
*/

void print_sum_of_two_primes(int n, int 1i);

/*
* print the argument n and the COUNTER_EXAMPLE_STRING string and exit with EXIT_SUCCESS
*/

void found_counter_example(int n);

void check_conjecture(int from, int to);

#endif
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#include <stdio.h>
#include <stdlib.h>
#include <math.h>
#include “goldbach.h”

int is_prime(int n) {
int 1i;
double sqgn;
for (i=2,sgn=sqrt(n); i<=sqn; ++i) {
if (n%i==0)
return FALSE;
}
return TRUE;

}

int is_sum_of_two_primes(int n) {
int i;
for(i=2; i<n; ++i) {
if (is_prime(i) && is_prime(n-i))
return i; /* any i!=0 is true and i is not 0 */
}

return FALSE;

}

void print_sum_of_two_primes(int n, int i) {
printf ("%d=%d+%d\n”,n,i,n-1);
}

void found_counter_example(int n) {
printf ("%d %s\n”,n,COUNTER_EXAMPLE_STRING) ;
exit (EXIT_SUCCESS) ;

}

void check_conjecture(int from, int to) {

int n;
for (n=from; n<to; n+=2) {
int 1i;
if ((i=is_sum_of_two_primes(n))) {
print_sum_of_two_primes(n,i);
} else {

found_counter_example(n) ;

}
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Introduction to Computer Science
Homework assignment 7

Submission deadline: Thursday, 12/12/2002 at 7:30am

December 1, 2002

1 The Conway game of life

The Game of Life was invented by John Horton Conway. The game is played on a field of cells, each of
which has eight neighbors (adjacent cells). A cell is either occupied (by an organism) or not. The rules for
deriving a generation from the previous one are these:

The Rules

e Death: If an occupied cell has less than two neighbours (death due to loneliness) or more than three
neighbours (death due to overpopulation).

e Survival: If an occupied cell has two or three neighbors, the organism survives to the next generation.
e Birth: If an unoccupied cell has three occupied neighbors, it becomes occupied.

The game is played on a grid of LIFE_GRID rows and LIFE_GRID columns. The game reads a grid with
some organisms on it, this is the 0 generation. Then the rules are being applied iteratively on the current
generation’s grid and a new generation forms (it might grow or shrink).

As usual, input and output files are available on the course website.

2 The problem

Write a program that reads from the standard input a grid of size LIFE_GRIDXLIFE_GRID characters
(LIFE_GRID will be set to 10, meaning, the grids are of size 10x10 cells), where each grid cell is either
occupied (the character signifying an occupied cell is a star: **’) or empty (the character signifying an empty
cell is a dot: *.”), and employs the game of life on it. The game should run for N generations (N should be
set to 20), so that including the O generation, there are N+1 generations in total. In every generation your
program should print the status of the current grid, and calculate the next generation’s grid.

You'should“implement the Conway Game of Life using the Top Down method. You will be given the
fellowing files:

e The main programfile, conway_game_of_life.c.
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e A header file, conway.h, which defines constants and function prototypes of functions used in the
main program.

o A makefile, Makefile, which defines the dependencies among the files, compilation and linking order.

You should implement the interface described in the header file. The implementation of the functions
described in the header file should be in a file called conway.c.

3 Assumtions

Input should be LIFE_GRID lines (a line terminates with the newline (°
n’) character), each line containing exactly LIFE_GRID characters (not counting the newline). The only two
allowed characters in a line are the OCCUPIED character (’*’) and the EMPTY character (.’).

The output should be printed to the standard output. Each iteratoin should produce a line stating the
number of the generation (starting from the 0 generation), follwed by the grid of that generation. See the
published I/O examples for more information.

You might want to define a grid of size (LIFE_GRID+2)x(LIFE_GRID+2), initialize it with an initializa-
tion character (e.g. INITIALIZED (the *+’ character)), to avoid the trouble in handling the special cases of
cells which are on the borders of the original grid. The program should run for N (set to 20) iterations (21
iterations counting the 0 generation too).

The header file conway.h contains three functions that you should implement. You should implement
these functions in a file called conway.c. You might need to implement more functions. Write these too in
conway.c.

4 General things to notice

You may want to read about the common mistakes done in previous homework assignments. This informa-
tion is available on the course website in the homework section.

Make sure your code compiles with all the flags we saw in class and produces NO errors and NO
warnings. Any source file that produces some error during compilation will be graded 0, and source file
producing warnings will be penalized according to the number of warnings seen.

Make sure your code works well, try it on the given examples, and also on other examples, and submit
only after you are sure it works as you expected it to.

Please document your code with short comments explaining not what you are doing, but why you are
doing it.

As usual, late submissions and no submissions will be graded 0. Don’t wait too much before you start
this exercise, make sure you have enough time to get over all the technical problems, make sure you can
submit something. Remember - you can submit your assignment as many times as you like. The LAST
submission counts as your official submission. Make sure your last submission is before expiration of the
submission deadline.

5 Input/Output Examples

Areayailable-on' the course website in the homework section.
Use diff on study.haifa.ac.il to make sure your output looks EXACTLY like the published examples, and
also that your output looks like the output the available binary produces.
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#ifndef _ CONWAY_H__
#define _ CONWAY_H__

#include <stdio.h>
#include <stdlib.h>

#define
#define
#define
#define
#define
#define
#define

INVALID_
L /* empty cell */

EMPTY '
OCCUPIED
INITIALT
LIFE_GRI
REAL_GRI
N 20

INPUT “Invalid input.”

Tk /* occupied cell */
ZED '+’ /* initialized cell */
D 10

D_SIZE ((LIFE_GRID)+2)
/* number of generations the program should simulate.

void load_init(char[REAL_GRID_SIZE][REAL_GRID_SIZE])
void print_grid(char[REAL_GRID_SIZE][REAL_GRID_SIZE]):;
void step_generation(char[REAL_GRID_SIZE][REAL_GRID_SIZE]);

#endif
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#include <stdio.h>
#include <stdlib.h>
#include “conway.h”

int neighbors(char A[REAL_GRID_SIZE][REAL_GRID_SIZE],int row,int col) {
int sum=0,1,73;
for(i=row-1;i<=row+1;++1i) {
for(j=col-1;j<=col+1;++j) {
if ((i!'=row Il j!=col) && OCCUPIED==A[1]1[71) {
++sum;

}
}

return sum;

}

void init_array(char A[REAL_GRID_SIZE][REAL_GRID_SIZE]) {
int i,73;
for (i=0;i<REAL_GRID_SIZE;++1i)
for (j=0;3<REAL_GRID_SIZE;++73)
A[i1i]1[j1=INITIALIZED;

}

void copy_array(char A[REAL_GRID_SIZE][REAL_GRID_SIZE],
char B[REAL_GRID_SIZE][REAL_GRID_SIZE]) {
int 1,73
for (i=1;i<=LIFE_GRID;++1)
for (j=1.3<=LIFE_GRID;++7j)
Bli1[J1=A[11[]1;
}
void sanity_check_array(char A[REAL_GRID_SIZE][REAL_GRID_SIZE]) {
int i,73;
for(i=1;1i<=LIFE_GRID;++1) {
for(j=1;j<=LIFE_GRID;++7j) {
if (INITIALIZED==A[i][F]1) {
printf(”Sanity check detected an unexpected character
“in row %d and column %d: %c\n”, 1i,3,A[11[31):
exit (EXIT_FAILURE) ;

”

}

void load_init(char A[REAL_GRID_SIZE][REAL_GRID_SIZE]) {
int row=1,col=1;
int c;
init_array(A);
while( EOF!=(c=getchar())) {
switch(c) {

o,

case

case ‘\t’:
break;

case ‘"\n’:
++row;
col=1;
break;

case EMPTY:

case OCCUPIED:
Alrow][col++]=cC;
break;

default:
printf(”“Invalid input in row %d and column %d: %c\n”,

row,col,c);
exit (EXIT_FAILURE) ;
}
}

sanity_check_arkay(A);

void step_generation(cha¥ A[REAL_GRID_SIZE][REAL_GRID_SIZE]) {
int i,j.,num_nefil@hbours;
char Z[REAL.GRID_SIZE][REAL_GRID_SIZE];

for (i=1;3<=LIFE_GRID;++1i) {
for (J=1;jJ<=LIFE_GRID;++j) {
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num_neighbours=neighbors(A,i,Jj);
if (OCCUPIED==A[11[71) {
/* decide if stays,
* dies from loneliness
* or dies from overpopulation
*/

Z[11[31=((2==num_neighbours) | | (3==num_neighbours))?0CCUPIED: EMPTY ;
} else {

Z[11[71=3==num_neighbours?OCCUPIED:EMPTY ;
}
}
1

copy_array(Z,A);/* Copy the contents of array Z to array A. */

}

void print_grid(char A[REAL_GRID_SIZE][REAL_GRID_SIZE]) {
int i,73;

/* Print a row number the actual row */
for (i=1;i<=LIFE_GRID;++i) {
for (j=1;j<=LIFE_GRID;++j) {
printf("%c “,A[1i1[31):
}

putchar(’\n’);
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John H. Conway (Scientific American, October 1970, p. 120) invented a game called
Life to model the process of birth, survival, and death. The idea is that
organisms require others in order to survive and procreate but that overcrowding
results in death. This program simulates the game Life.

It asks the user for the initial distribution of organisms of the first generation
of the game. After this the game continues for the number of generations defined
by N. The games follows these rules:

A) Birth Rule: An organism is born into any empty cell that has exactly three
living neighbors.

B) Survival Rule: An organism with either two or three neighbors survives from
one generation to the next.

C) Death Rule: An organism with four or more neighbors dies from overcrowding.
An organism with fewer than two neightbors dies from loneliness.

¥ X X X X X X ¥ X X ¥ ¥ X X ¥ ¥ ¥

*
~

#include <stdio.h>
#include <stdlib.h>
#include “conway.h”

int main(void) {
char life[REAL_GRID_SIZE][REAL_GRID_SIZE]; /* Array used for the simulation. */
int 1i;
load_init(life);

/* Loop to cycle through the different generations. */
for (i=0;i<=N;i++) {

printf(”\nGeneration: %i\n”,i); /* print generation number */
print_grid(life); /* print the current generation */
step_generation(life); /* generate the next generation. */

}
return EXIT_SUCCESS;
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Introduction to Computer Science
Homework assignment 9

Submission deadline: Thursday, 26/12/2002 at 7:30am

December 15, 2002

1 Approximated String Matching

In a world where many make mistakes, it is nice to have error correcting mechanisms, especially automatic
ones. In this homework we will concentrate on the approximated matching of strings. A known example
is a spell cheking and correcting program, which suggests a word upon detecting some erroneous string of
characters. Another known example is the mechanism in the Google search engine which suggest a correct
term when some erroneous string is input as the search term.

In this home assignments you will implement a program that suggest a word (taken from a dictionary of
words) with the smallest edit distance to a given erroneous word.

There are many details in this assignment which you should think about, such as:

e What is a dictionary of words and how can you input it to your program?

e How does the program receive the erroneous word as input?

e How to determine the proximity between words?

e How to find the closest word from a dictionary to the given erroneous word?

Think about these questions when you read the rest of this document. Pay attention to the details of the
different definitions. The answers to the questions mentioned above are given in the remainder of this
document. Read this text several times, and make sure you understand what you are asked to do. Do no
more but no less than what you’re required to do.

2 General description of Edit Distance

We shall describe one model (there are several additional possible models) to defining the distance between
two strings. Our model deals with converting one string of characters to another string of characters by a
seriesof edif eperations on single characters. The allowed operations are:

e INSERT - insertion of a single character to the first string (e.g. CT — CAT).

e DELETE - deletionof a single character from the first string (e.g. CAAT — CAT)
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e SUBSTITUTE - substitution of a single character from the first string with a signle character from the
other string (e.g. KAT — CAT).

Following are a few examples:

1. Consider the string APPLETS. In order to convert it into the string APPLES we should perform one
delete operation.

2. Consider the string CSINTRO. In order to convert it into the string CASINO we need to perform one
insert operation (insert the character A) and two delete operation (delete T, delete R).

3. Consider the string BOLD. In order to convert it into the string BALD we need to perform one sub-
stitute operation (substitute O with A).

Let A and B be character strings. We define the edit distance between A and B as the minimum number
of operations (of insert, delete and substitute) needed to be performed on the string A in order to transform
it into the string B.

The problem seems difficult, as we need to determine where to delete characters and where to add
characters. So, what is the information needed to make the correct decision? For example, what will happen
with the last character of the string A? Either a similar character in the same position exists in the string B
(and so, there is nothing to do), or we should replace it with another character. Another possibility instead
of replacing the character is to delete it and then insert the other character instead. Since we are interested
in the minimum number of operations, we will always favour one substitution over the two operations of
delete-insert (one delete and one insert).

3 Formal description of Edit Distance

Let A and B be character strings. We define the length of a string A with the number of characters in the
string A and we denote this by | A|.

We define the distance between two strings A and B in inductively: if A and B are both the empty string,
then edit_distance(A, B) = 0
else if B is the empty string, then for any string A edit_distance(A,””) = |A|
else if A is the empty string, then for any string B edit_distance(””, B) = | B|
else (so neither A nor B is empty) let the longest prefix of A which does not include the last character of A
be pref(A) and let the last character of A be last(A). Similarly, pref(B) and last(B). We define p as:

_J 0 iflast(A) = last(B),
"] 1 otherwise.

So, the edit_distance(A, B) is actually:

edit_distance(pref(A),pref(B)) + p,
edit_distance(A, B) = minimum { edit_distance(A,pref(B)) + 1,
edit_distance(pref(A), B) + 1)

We-say that D;; is the edit distance between the ¢ first characters of A and the j first characters of B. In
orderto calculate edit.distance(A,B) we need to compute all the values of the matrix D for any 0 < i < |A]
and any 0 < j < |B|.“Therefore, edit_distance(A,B) is the element in the | A|th row and the | B|th column,
1.e. DHHB\
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We need to initialize Dy; = ¢ because we want to compare the entire A string to the entire B string, so
we will have to dekete the first i characters of A (if we wanted to see whether B is a substring of A we could
have demanded a different initial condition: Dgy; = 0). D;p = ¢ because we can’t afford deletion of the first
i characters with no price.

The algorithm

edit_distance (A, B)
for i=0 to length of A do DJ[i,0]
for i=0 to length of B do D[0,i]
for i=1 to length of A do
for j=1 to length of B do
D[i,j]=minimum(D[i-1, j-1]+p,D[i-1,3j]+1,D[i, J-1]1+1)

i
i

4 Things to notice in the implementation

Notice that we need to manage a table (a matrix) of such D;; values (think how many rows and how many
colunms such a matrix should have). Such a table can be implemented using two-dimensional arrays. The
full size of the table is not required. Two lines of the table are enough: the current line and the previous line.

The table should be dynamically allocated using the lengths of the strings A and B. Since this is the
case, you don’t need to know the lengths of A and B at all, because you can calculate it once you read the
strings from the input. The length of a string can be obtained using the function strlen() from string.h. Here
is a short description of strlen():

NAME
strlen - calculate the length of a string

SYNOPSIS
#include <string.h>

size_t strlen(const char *s);

DESCRIPTION
The strlen() function calculates the length of the string s,
not including the terminating ‘\0’ character.

RETURN VALUE
The strlen() function returns the number of characters in s.

When you implement the algorithm make sure you use short and clear functions. You will be required
to implement several functions described in a header file edit_distance.h.

5 Usage, return values, input/output examples and what to submit

The input to your program comes from the commandline. The input consists of a list of words where the first
word is the erroneous werd, and the additional words make up the dictionary. The output of your program
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should be one word from the dictionary which has the smallest edit distance to the erroneous word. The
output should be printed to the standard output.
The usage of the program looks like this:

[o)

% edit_distance word dict _wordl dict _word2 ... dict_wordN

Where edit_distance is the name of the executable file, word is the erroneous word and dict_word] ...
dict_-wordN are N words of the dictionary. Notice that there is no limit on N, so you should expect any non
negative integral number of dictionary words. Notice that N is not a constant either!

Here is an example of a possible run:

[o)

% ./edit_distance applet lake banana rice mouse bottle apple ape
And here is the expected output:
apple

Here is an example of a possible run:

[o)

% ./edit_distance applet
And here is the expected output:
Need at least two words

You need to implement your solution in a file called edit_distance.c which includes edit_distance.h (to
make sure you follow the prototypes). Submit only edit_distance.c.

6 General things to notice

You may want to read about the common mistakes done in previous homework assignments. This informa-
tion is available on the course website in the homework section. You might find a lot of useful ideas and
examples in the recitations preceding this homework assignment.

Make sure your code compiles with all the flags we saw in class and produces NO errors and NO
warnings. Any source file that produces some error during compilation will be graded 0, and source file
producing warnings will be penalized according to the number of warnings seen. Make sure your code
works well, try it on the given examples, and also on other examples, and submit only after you are sure it
works as you expected it to.

Please document your code with short comments explaining not what you are doing, but why you are
doing it.

As usual, late submissions and no submissions will be graded 0. Don’t wait too much before you start
this exercise, make sure you have enough time to get over all the technical problems, make sure you can
submit something. Remember - you can submit your assignment as many times as you like. The LAST
submission counts as your official submission. Make sure your last submission is before expiration of the
submission deadline.
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#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <limits.h>

int minimum( int a, int b, int c ) {
int min;
min=(a<b)?a:b;
min=(min<c)?min:c;
return min;

}

void memory_allocation_error(void) {
printf(”“Memory allocation error. Aborting!\n”);
exit(1);

}

int** alloc_table(int **table, int rows, int cols) {
int i;
if (!(table = (int**)malloc(sizeof(int*)*rows)))
memory_allocation_error();

for (i=0; i<rows; ++i) {
if(!(table[i]l=(int*)malloc(sizeof(int)*cols)))
memory_allocation_error();
}

return table;

}

void free_table(int **table, int rows) {
int i;
for (i=0; i<rows; ++i) {
free(table[i]):
}
free(table);

}

int** initialize( int** D, int length1, int length2 ) {

int i,11,12;

11=lengthl1+1;

12=1length2+1;

D = alloc_table(D,11, 12 );

for (i=0; i<11; ++i) {
D[i]1[0]=i;

}

for (i=0; i<12; ++i) {
D[O][i]=1i;

}

return D;

}

int edit_distance(char *wordl, char *word2) {
int i, j, p., ret:
int **D;
int length1, length2;
lengEhlt=strlen(wordl) ;
length2=gttlen(word?) ;
D = initiaXize(D,length1,length?2);
for (i=1; i<=length1; ++i) {
for (g=1; j<=length2; ++3j) {
p = (wordl1[i-1]!=word2[j-1]):

D[il[jl=minimum( D[1i-11[F-11+p, D[i-11[J1+1,

}
}
ret = DE--1i}J\-71;
free tab@e D% lengtht);
return retty
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void check_input(int num_params) {
if (num_params<3) {
printf(”“Need at least 2 arguments.\n”);
ex1t (EXIT_FAILURE) ;

}

char* get_closest(char *wordl, char *dict_words[], int dict_size) {
int i,d,closest;
int min=INT_MAX;
for (i=0,closest=0; i<dict_size; ++i) {
d=edit_distance(wordl,dict_words[i]):
if (min>d) {
min=d;
closest=i;
}
}

return dict_words[closest];

}

void print_closest(char *word) {
printf(”"%s\n”,word);

}

int main( int argc, char *argv[] ) {
check_input(argc);
print_closest(get_closest(argv([1],2+4+argv,argc-2));
return EXIT_SUCCESS;
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1 Recursive above-average

Write a function above_average() with the following prototype:
double above_average (int sum, int n)

reads integer numbers from the standard input and then prints in reversed order all the numbers that are
greater than the average of the numbers seen in input.

You should submit the function’s implementation in a filename called above_average.c. This file should
includ the header file above_average.h

You can test your implementation using the test driver fest_above_average.c

The files above_average.h and test_above_average.c are published in the homework section of the course
site. You should only submit above_average.c, completing it. Notice that you are not allowed to use any
other memory and variable other than those already defined in above_average.c.

2 General things to notice

You may want to read about the common mistakes done in previous homework assignments. This informa-
tion is available on the course website in the homework section. You might find a lot of useful ideas and
examples in the recitations preceding this homework assignment.

Make sure your code compiles with all the flags we saw in class and produces NO errors and NO
warnings. Any source file that produces some error during compilation will be graded 0, and source file
producing warnings will be penalized according to the number of warnings seen. Make sure your code
works well, try it on the given examples, and also on other examples, and submit only after you are sure it
works as you expected it to.

Please document your code with short comments explaining not what you are doing, but why you are
doing it.

As usual, late submissions and no submissions will be graded 0. Don’t wait too much before you start
this-exercise; make)sure you have enough time to get over all the technical problems, make sure you can
submit something. Remember - you can submit your assignment as many times as you like. The LAST
submission counts as your official submission. Make sure your last submission is before expiration of the
submission deadline.
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#include <stdio.h>

#include “above_average.h”

double above_average(int sum, int n) {
double average;
int input;

if (scanf("%d”, &input) != 1) {
return sum/(double)n;
} else {
average=above_average (sum+input, n+1);
if (average < input) {
printf ("%d ”, input);
}

return average;
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#include <stdio.h>

#include <stdlib.h>

#include <ctype.h>

#define NUM_LETTERS ((int)26)
typedef enum {NO=0, YES=1} boolean;

typedef struct node {

char letter;

long unsigned int count;

boolean is_word;

boolean has_kids;

struct node* children[NUM_LETTERS];
} node;

typedef struct trie {
node* children[NUM_LETTERS];
node* current;
boolean empty;
int max_word_length;
char* word;
} trie;

void memory_allocation_error(void) {
printf(”“Memory allocation error. Aborting!\n”);
exit(1);

node* new_node(void) {
node* n;
if (!(n=(node*)malloc(sizeof(node))))
memory_allocation_error();
return n;

node* initialize_node(node* n,char letter) {
int i;
n->letter = letter;
n->count = 0;
n->is_word = NO;
n->has_kids = NO;
for (i=0; i<NUM_LETTERS; ++i) {

(n->children)[i] = NULL;

}

return n;

node* create_node(char letter) {
node* created_node;
created_node=new_node () ;
return initialize_node(created_node, letter);

}

void free_node(node* n) {

int 1i;
if (n==NULL) {
return;
]
if (0==(n->has_kids)) {
free(n) ;
} else {
for (i=0; 1<NUM_LETTERS; ++i) {
free_node((n->children)[i]);
}
}
return;

}

trie¥igew trietvoid) |
trie¥* t;
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}

if (! (t=(trie*)malloc(sizeof(trie))))
memory_allocation_error();
return t;

trie* initialize_trie(trie* t) {

}

int 1i;

for (i=0; i<NUM_LETTERS; ++i) {
t->children[i]=NULL;

}

t->current=NULL;

t->empty=YES;

t->max_word_length=0;

return t;

trie* create_trie(void) {

}

trie* created_trie;
created_trie=new_trie();
return initialize_trie(created_trie);

void close_word(trie* root) {

boolean

if (root->current == NULL)
return;
root->current->count++;
root->current->is_word = YES;
root->current=NULL;

is_empty(trie* root) {
return root->empty;

int char2index(char c) {

}

,

return c-'a’;

int read_character(trie* root, int c) {

int index;

int word_length=0;

if(!isalpha(c)) {
close_word(root) ;
return word_length;

}

word_length++;

c=tolower(c);

index= char2index(c);

if (root->current==NULL) { /* new word - start from root */
if (root->children[index] == NULL)
root->children[index] = create_node(c);
root->current = root->children[index];
root->empty=NO;
} else {
root->current->has_kids = YES;
if (root->current->children[index] == NULL)
root->current->children[index] = create_node(c):

root->current=root->current->children[index];

}

return word_Xength;

void alllocate_word(trie* root) {

free(root->word) ;

if (! (xoot->word=(char*)malloc(1+sizeof(char)*(root->max_word_length)))

memoxy_allocation_error();

trie* A TRSTE () |
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}

int c;

int word_length;

trie* root;

root = create_trie();

while( EOF!=(c=getchar()) ) {
word_length=read_character(root,c);
if (word_length>root->max_word_length)

root->max_word_length=word_length;

}

allocate_word(root);

return root;

void print_words_reverse(trie* root) ({

}

static int p=0;
int i;
node* current;
root->word[p++]=root->current->letter;
if (root->current->has_kids) {
for (i=NUM_LETTERS-1; i>=0; --1i) {
if (root->current->children[i] == NULL)
continue;
current = root->current; /* remember */
root->current = root->current->children[i];
print_words_reverse(root) ;
root->current = current; /* recall */
}
} else {
if (root->current->is_word) {
root->word[pl="\0";

printf(”%s\t%ld\n”, root->word, root->current->count) ;

if (root->current->is_word) {
root->word[p]="\0";
printf("%s\t%ld\n”,root->word, root->current->count) ;

void print_trie_reverse(trie* root) {

}

int 1i;
if (root == NULL)
return;
if (is_empty(root))
return;
for (i=NUM_LETTERS-1; i>=0; --i) {
if (root->children[i] == NULL)
continue;
root->current = root->children[i];

print_words_reverse(root) ;

void  printiwords(trie* root) |{

http://cs.haifa.ac.il/students/

static intNps=0;
int i;
node* current.
root->word[p++¥]l=root->current->letter;
if (root->currént->is_word) {
root->word[p]l="\0";
printf(”%s\t%ld\n”, root->word, root->current->count) ;
}
if (root->cérrent->has_kids) {
for(i=0; i<NUM_LETTERS; ++i) {
if (root->current->children[i] == NULL)
continue;
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current = root->current; /* remember */

root->current = root->current->children([i];
print_words(root) ;
root->current = current; /* recall */
}
} else {
--p;
return;
}
--p;

void print_trie(trie* root) {

int i;
if (root == NULL)
return;
if (is_empty(root))
return;
for (i=0; 1i<NUM_LETTERS; ++1i) {
if (root->children[i] == NULL)
continue;
root->current = root->children[i];

print_words(root) ;

}

void free_trie(trie* t) {
int 1i;
if (t == NULL)
return;
for(i=0;i<NUM_LETTERS; ++i) {
free_node(t->children[i]);
}
free(t)
}

void usage(char* program_name,char* message) {
printf(“\n%s\n\n”,message) ;
printf ("USAGE: \n\t%s: %s\n\n”,program_name,message) ;
exit(1);

boolean should_reverse(int argc, char* argv([]) {
if (argc > 2)
usage(argv[0], "Wrong number of arguments.”);

if ( (argc == 2) && (argv[1][0]l=="r’ Il argv[1][0]=="R") )
return YES;

if (argc == 1)
return NO;

usage(argv[0],”Bad command line arguments.”);

return NO; /* will never get here */

}

int main(int argc, char* argv[]) ({
trie* root;
bootean r=NO;

r—-=-showld_reverse(argc,argv) ;
root = read text();
if (r)

print_trie_reverse(root):
else

print frie(root);
free trie(rooth;
retuxrn O0;
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